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Q1. DIRECTIONS: In the following question, out of the four alternatives, choose the one which best expresses the meaning of the given word.

Debacle:

O Decline
O Downfall

O Discomfiture
(O Degeneration

Answer of above question: Downfall

Q2. DIRECTIONS: In the following question, out of the four alternatives, choose the one which best expresses the meaning of the given word.

Industrious

O helpful
O vigorous
O slothful
() absurd

Answer of above question: vigorous

Q3. Directions: Choose the answer choice that best defines the word in capital letters.

DISSEMINATE

O to cause something to disappear
(O tocut up for scientific study

O to analyze through conversation
O to disperse information widely

Answer of above question: to disperse information widely

Q4. Directions: Choose the answer choice that best defines the word in capital letters.

WIZENED

O shriveled
O smart
O sensible

O sophisticated

Answer of above question: shriveled

Q5. DIRECTIONS: In the following question, out of the four alternatives, choose the one which best expresses the meaning of the given word.

Efficacious

O effective

() not producing desired result

Q dull
O morse

Answer of above question: effective

Q6. In each of the following questions four words are given, of which two words are nearly the same or opposite in meaning. Find the two words that are similar or opposite in meaning and indicate the number of
the correct letter combination provided in the options.

(A) Prophetic (B) Strange (C) Poor (D) Sterling
(O AB
(O cp
O 8D
(O AD

Answer of above question: C-D

Q7. Directions: In the following question has four options. You have to find out the word exactly opposite in meaning to the given word.

Quell:

() suppress
O incite
O extinguish
O subdue

Answer of above question: incite

Q8. Directions: Select the word or phrase which is closest to the opposite in meaning of the italicized word or phrase.

The pace of the movement loosens in course of time.

(O stopped
O quickened

O multiplied
O recovered

Answer of above question: quickened

Q9. The following question consists of a word printed in capital letters, followed by four words or phrases. Select the word or phrase that is most closely opposite in meaning to the capitalised word.

PIETY:
(O docility
O seriousness

O wickedness



O faithfulness

Answer of above question: wickedness

Q10. The following question consists of a word printed in capital letters, followed by four words or phrases. Select the word or phrase that is most closely opposite in meaning to the capitalised word.

INNATE
O Acquired
O Basic
O Simple

() Unassuming

Answer of above question: Acquired

Q11. Directions: Every sentence is followed by four options. You have to find out the one-word substitution for given sentences.

One who feels at home in every country.
O metropolitan
(O cosmopolitan
() citizen
() denizen

Answer of above question: cosmopolitan

Q12. Directions: Every sentence is followed by four options. You have to find out the one-word substitution for given sentences.

One who criticises popular beliefs which he thinks are mistaken or unwise
O Philistine
() Iconoclast
(O Imposter
(O cannibal

Answer of above question: lconoclast

Q13. Directions: Choose the best word(s) to complete each sentence.
The researcher admitted that the results of the experiment were and that, because they were so unusual, they were not indicative of any larger trends.

A. aberrant B. abortive C. abrupt D. abstract
O A
O s
Oc
Op

Answer of above question: A

Q14. Directions: Choose the best word(s) to complete each sentence.

My haughty mother-in-law often makes comments; on the other hand, my father-in-law is humble and kind.
() deferential

O ferocious
O supercilious
O affluent

Answer of above question: supercilious

Q15. Directions: Choose the best word(s) to complete each sentence.

The doctor warned his patient of the need to forfeit his lifestyle and gave him a list of activities he might employ to become more active.

() static ... passive

() vivacious ... latent
O sedentary ... kinetic
(O demoniac ... prostrate

Answer of above question: sedentary ... kinetic

Q16. Directions: Choose the best word(s) to complete each sentence.
John Wayne always played characters who exhibited a great deal of
manipulate Wayne's emotions.

, but in real life, his confidence could easily be shaken, especially by the legendary director John Ford, who knew exactly how to

A. blasphemy B. benediction C. bravado D. bluntness
O A
OR:
Oc
Op

Answer of above question: C

Q17. DIRECTIONS: Choose the correct spelling of the given words.

() Incorigible

O Incorrigible
O Incorrigibal
O Incorrigeble

Answer of above question: Incorrigible

Q18. DIRECTIONS: In the following sentence, four options have been marked bold. Choose the word which has been spelt incorrectly.

Helen liked to be served by people who behaved as if they respected themselves; nothing irritated her more than an excessively obseqious waiter or a fawning sales clerk.

O irritated

O excessively



() obsegious
(O fawning

Answer of above question: obseqious

Q19. Choose the incorrectly spelt word from the following set of words:

O distress
O entertained
O dismiss
O dismissel

Answer of above question: dismissel

Q20. Directions: In the MCQ has four options. You have to find out the correct option.

They sold their house because it was a real white elephant.
O a useless one
() an expensive one

O a rare find
O a big one

Answer of above question: an expensive one

Q21. Directions: In the following idiom/phrase is followed by four options. You have to find out the exact option from the given options.

Our school is within a stone’s throw of the railway station.
() within a definite circumference
() within a certain radius

() very far off
O at a short distance

Answer of above question: at a short distance

Q22. In the following question, four alternatives are given for the idiom/phrase underlined in the sentence. Choose the alternative which best expresses the meaning of the idiom/phrase

She wanted to go hitch-hiking but her mother put her foot down and now she’s going by bus.
() tooka firm stand
O expressed her displeasure
O scolded her badly

O got irritated

Answer of above question: took a firm stand

Q23. In the following question, out of the four alternatives choose the one that can be substituted for the given words/phrase:

The gift of the gab means.
() an unexpected gain
() fluency of speech
O thought provoking oration
O a gift from Santa Claus

Answer of above question: fluency of speech

Q24. "l am going to transfer you to our quality control division. You are an excellent analyst and very intelligent. | think developing those skills in a real-world setting and getting experience in another area of this
company will do you............ , career wise," Max said to Justine.

(O good
(O ahead
O favorably

O advancement

Answer of above question: good

Q25. Adrenaline shot through his body and the ability to control his appendages was becoming increasingly more difficult in the icy water. He knew that if he didn't rescue the people from the ocean right now, there
would be no hope for them due to hypothermia, among other things. There were no do................. when the ocean was this turbulent and cold.

() afters
(O agains
() overs
() repeats

Answer of above question: overs

Q26. It can be inferred that the events in this passage take place in
Directions: Read the passage. Then answer the questions below.

Claus sat, an open map sprawled over his lap. “Well, if I'm reading this right, it's just another twenty miles or so until we hit the Nevada border. That means we are just a half hour from California.” Maggie
smiled at him then exaggeratedly motioned that she was accelerating. The now-ten-years-past-its-prime 1946 Roadmaster purred under the weight of her driving foot.

"Let's see if we can make it twenty minutes!” she exclaimed. Claus folded the map delicately, and leaned back in his chair. After two excruciatingly long days—and one overnight stay in a somewhat
objectionable motel room in the western half of Nebraska—here they were. Even though the move was forced on them in an immediate sense by Claus’s dismissal from his job and in a longer sense on the end
of the war-time boom that presaged the closing of the tool and dye plant, Claus and Maggie were excited. California, as it had for so many forebears—from the courageous and gold-hungry pioneers of yore to
the Okies of the Depression years—represented opportunity for them. For Claus and Maggie, California was more than just sunshine and palm trees: California was the very embodiment of the American Dream.
California: where Marion Morrison became John Wayne, where ingenuity turned to fortune, and where, they hoped, Claus and Maggie could become so much more than they had ever thought was possible in

the sleepy Midwest.

As if to confirm their dreams, Maggie had already found a job as an assistant on a real film studio lot, and Claus had heard there was work for men with his skills all over town. Both knew they would have to
work harder than they ever had before, but both intrinsically understood that the American Dream is not so much a promise as an agreement: If you put in the work, America will deliver your dreams
“Now entering California,” Maggie and Claus read in unison. And, just as the Roadmaster finally crossed over into California, leaving Nevada behind it, so the young couple put their past behind them to settle
into the road ahead.
O The Great Depression
O The 2000s
(O The 1950s



O Frontier Days

Answer of above question: The 1950s

Q27. In this passage, California is described as all of the following EXCEPT a land of
Directions:Read the passage. Then answer the questions below.

Claus sat, an open map sprawled over his lap. “Well, if I'm reading this right, it's just another twenty miles or so until we hit the Nevada border. That means we are just a half hour from California.” Maggie
smiled at him then exaggeratedly motioned that she was accelerating. The now-ten-years-past-its-prime 1946 Roadmaster purred under the weight of her driving foot.

“Let's see if we can make it twenty minutes!” she exclaimed. Claus folded the map delicately, and leaned back in his chair. After two excruciatingly long days—and one overnight stay in a somewhat
objectionable motel room in the western half of Nebraska—here they were. Even though the move was forced on them in an immediate sense by Claus’s dismissal from his job and in a longer sense on the end
of the war-time boom that presaged the closing of the tool and dye plant, Claus and Maggie were excited. California, as it had for so many forebears—from the courageous and gold-hungry pioneers of yore to
the Okies of the Depression years—represented opportunity for them. For Claus and Maggie, California was more than just sunshine and palm trees: California was the very embodiment of the American Dream.
California: where Marion Morrison became John Wayne, where ingenuity turned to fortune, and where, they hoped, Claus and Maggie could become so much more than they had ever thought was possible in

the sleepy Midwest.

As if to confirm their dreams, Maggie had already found a job as an assistant on a real film studio lot, and Claus had heard there was work for men with his skills all over town. Both knew they would have
to work harder than they ever had before, but both intrinsically understood that the American Dream is not so much a promise as an agreement: If you put in the work, America will deliver your dreams

"Now entering California,” Maggie and Claus read in unison. And, just as the Roadmaster finally crossed over into California, leaving Nevada behind it, so the young couple put their past behind them to
settle into the road ahead.
O dullness
() transformation
O sunshine
O optimism

Answer of above question: dullness

Q28. As used in paragraph 3, the word excruciatingly most nearly means
Directions:Read the passage. Then answer the questions below.
Claus sat, an open map sprawled over his lap. “Well, if I'm reading this right, it's just another twenty miles or so until we hit the Nevada border. That means we are just a half hour from California.” Maggie

smiled at him then exaggeratedly motioned that she was accelerating. The now-ten-years-past-its-prime 1946 Roadmaster purred under the weight of her driving foot.

"Let's see if we can make it twenty minutes!” she exclaimed. Claus folded the map delicately, and leaned back in his chair. After two excruciatingly long days—and one overnight stay in a somewhat
objectionable motel room in the western half of Nebraska—here they were. Even though the move was forced on them in an immediate sense by Claus’s dismissal from his job and in a longer sense on the end
of the war-time boom that presaged the closing of the tool and dye plant, Claus and Maggie were excited. California, as it had for so many forebears—from the courageous and gold-hungry pioneers of yore to
the Okies of the Depression years—represented opportunity for them. For Claus and Maggie, California was more than just sunshine and palm trees: California was the very embodiment of the American Dream.
California: where Marion Morrison became John Wayne, where ingenuity turned to fortune, and where, they hoped, Claus and Maggie could become so much more than they had ever thought was possible in

the sleepy Midwest.

As if to confirm their dreams, Maggie had already found a job as an assistant on a real film studio lot, and Claus had heard there was work for men with his skills all over town. Both knew they would have to
work harder than they ever had before, but both intrinsically understood that the American Dream is not so much a promise as an agreement: If you put in the work, America will deliver your dreams

"Now entering California,” Maggie and Claus read in unison. And, just as the Roadmaster finally crossed over into California, leaving Nevada behind it, so the young couple put their past behind them to

settle into the road ahead.

(O swiftly

() hopefully
(O agonizingly
O exaggeratedly

Answer of above question: agonizingly

Q29. Juxtaposition is a literary device characterized by the placement of a person, concept, place, idea, or theme parallel to another. This usually works to highlight the contrast between the two or to compare them.
In this passage, the author juxtaposes which of the following?

Directions:Read the passage. Then answer the questions below.
Claus sat, an open map sprawled over his lap. “Well, if I'm reading this right, it's just another twenty miles or so until we hit the Nevada border. That means we are just a half hour from California.” Maggie

smiled at him then exaggeratedly motioned that she was accelerating. The now-ten-years-past-its-prime 1946 Roadmaster purred under the weight of her driving foot.

“Let's see if we can make it twenty minutes!” she exclaimed. Claus folded the map delicately, and leaned back in his chair. After two excruciatingly long days—and one overnight stay in a somewhat
objectionable motel room in the western half of Nebraska—here they were. Even though the move was forced on them in an immediate sense by Claus’s dismissal from his job and in a longer sense on the end
of the war-time boom that presaged the closing of the tool and dye plant, Claus and Maggie were excited. California, as it had for so many forebears—from the courageous and gold-hungry pioneers of yore to
the Okies of the Depression years—represented opportunity for them. For Claus and Maggie, California was more than just sunshine and palm trees: California was the very embodiment of the American Dream.
California: where Marion Morrison became John Wayne, where ingenuity turned to fortune, and where, they hoped, Claus and Maggie could become so much more than they had ever thought was possible in

the sleepy Midwest.

As if to confirm their dreams, Maggie had already found a job as an assistant on a real film studio lot, and Claus had heard there was work for men with his skills all over town. Both knew they would have
to work harder than they ever had before, but both intrinsically understood that the American Dream is not so much a promise as an agreement: If you put in the work, America will deliver your dreams

“Now entering California,” Maggie and Claus read in unison. And, just as the Roadmaster finally crossed over into California, leaving Nevada behind it, so the young couple put their past behind them to

settle into the road ahead.

O dreams and reality

() the past and the future
() travel and destination
O hope and regret

Answer of above question: the past and the future

Q30. Based on its use in paragraph 3, it can be inferred that presaged belongs to which of the following word groups?

Directions:Read the passage. Then answer the questions below.
Claus sat, an open map sprawled over his lap. “Well, if I'm reading this right, it's just another twenty miles or so until we hit the Nevada border. That means we are just a half hour from California.” Maggie

smiled at him then exaggeratedly motioned that she was accelerating. The now-ten-years-past-its-prime 1946 Roadmaster purred under the weight of her driving foot.

“Let's see if we can make it twenty minutes!” she exclaimed. Claus folded the map delicately, and leaned back in his chair. After two excruciatingly long days—and one overnight stay in a somewhat
objectionable motel room in the western half of Nebraska—here they were. Even though the move was forced on them in an immediate sense by Claus’s dismissal from his job and in a longer sense on the end
of the war-time boom that presaged the closing of the tool and dye plant, Claus and Maggie were excited. California, as it had for so many forebears—from the courageous and gold-hungry pioneers of yore to
the Okies of the Depression years—represented opportunity for them. For Claus and Maggie, California was more than just sunshine and palm trees: California was the very embodiment of the American Dream.
California: where Marion Morrison became John Wayne, where ingenuity turned to fortune, and where, they hoped, Claus and Maggie could become so much more than they had ever thought was possible in

the sleepy Midwest.

As if to confirm their dreams, Maggie had already found a job as an assistant on a real film studio lot, and Claus had heard there was work for men with his skills all over town. Both knew they would have
to work harder than they ever had before, but both intrinsically understood that the American Dream is not so much a promise as an agreement: If you put in the work, America will deliver your dreams

“"Now entering California,” Maggie and Claus read in unison. And, just as the Roadmaster finally crossed over into California, leaving Nevada behind it, so the young couple put their past behind them to

settle into the road ahead.



O scrutinized, probed, analyzed
O dismissed, banished, dissolved
O advised, recommended, offered
O portended, foretold, warned

Answer of above question: portended, foretold, warned

Q31. Which of the following statements best describes the main plot of this passage?
Directions:Read the passage. Then answer the questions below.
Claus sat, an open map sprawled over his lap. “Well, if I'm reading this right, it's just another twenty miles or so until we hit the Nevada border. That means we are just a half hour from California.” Maggie
smiled at him then exaggeratedly motioned that she was accelerating. The now-ten-years-past-its-prime 1946 Roadmaster purred under the weight of her driving foot.

"Let's see if we can make it twenty minutes!” she exclaimed. Claus folded the map delicately, and leaned back in his chair. After two excruciatingly long days—and one overnight stay in a somewhat
objectionable motel room in the western half of Nebraska—here they were. Even though the move was forced on them in an immediate sense by Claus’s dismissal from his job and in a longer sense on the end
of the war-time boom that presaged the closing of the tool and dye plant, Claus and Maggie were excited. California, as it had for so many forebears—from the courageous and gold-hungry pioneers of yore to
the Okies of the Depression years—represented opportunity for them. For Claus and Maggie, California was more than just sunshine and palm trees: California was the very embodiment of the American Dream.
California: where Marion Morrison became John Wayne, where ingenuity turned to fortune, and where, they hoped, Claus and Maggie could become so much more than they had ever thought was possible in
the sleepy Midwest.

As if to confirm their dreams, Maggie had already found a job as an assistant on a real film studio lot, and Claus had heard there was work for men with his skills all over town. Both knew they would have to
work harder than they ever had before, but both intrinsically understood that the American Dream is not so much a promise as an agreement: If you put in the work, America will deliver your dreams

"Now entering California,” Maggie and Claus read in unison. And, just as the Roadmaster finally crossed over into California, leaving Nevada behind it, so the young couple put their past behind them to
settle into the road ahead.

O A young couple vacations in California to seek gold as well as find work in Hollywood.
O Though they have no jobs there, a young couple moves to California for new opportunities.
O A young couple is forced to move to California due to the economy and struggles to enter the state

O Despite not wanting to move, a young couple enters California optimistic about the future.

Answer of above question: Despite not wanting to move, a young couple enters California optimistic about the future.

Q32. Which of the following events in the passage happened first?
Directions:Read the passage. Then answer the questions below.
Claus sat, an open map sprawled over his lap. “Well, if I'm reading this right, it's just another twenty miles or so until we hit the Nevada border. That means we are just a half hour from California.” Maggie
smiled at him then exaggeratedly motioned that she was accelerating. The now-ten-years-past-its-prime 1946 Roadmaster purred under the weight of her driving foot.

“Let's see if we can make it twenty minutes!” she exclaimed. Claus folded the map delicately, and leaned back in his chair. After two excruciatingly long days—and one overnight stay in a somewhat
objectionable motel room in the western half of Nebraska—here they were. Even though the move was forced on them in an immediate sense by Claus’s dismissal from his job and in a longer sense on the end
of the war-time boom that presaged the closing of the tool and dye plant, Claus and Maggie were excited. California, as it had for so many forebears—from the courageous and gold-hungry pioneers of yore to
the Okies of the Depression years—represented opportunity for them. For Claus and Maggie, California was more than just sunshine and palm trees: California was the very embodiment of the American Dream.
California: where Marion Morrison became John Wayne, where ingenuity turned to fortune, and where, they hoped, Claus and Maggie could become so much more than they had ever thought was possible in
the sleepy Midwest.

As if to confirm their dreams, Maggie had already found a job as an assistant on a real film studio lot, and Claus had heard there was work for men with his skills all over town. Both knew they would have
to work harder than they ever had before, but both intrinsically understood that the American Dream is not so much a promise as an agreement: If you put in the work, America will deliver your dreams

"Now entering California,” Maggie and Claus read in unison. And, just as the Roadmaster finally crossed over into California, leaving Nevada behind it, so the young couple put their past behind them to
settle into the road ahead.

O Claus lost his job at the tool-and-dye plant
O Claus and Maggie entered California.

() Claus and Maggie left the Midwest.

O Maggie got a job in Hollywood.

Answer of above question: Claus lost his job at the tool-and-dye plant

Q33. According to the passage, the Nancy Drew mystery series was introduced in
Directions: Read the passage. Then answer the questions below.
First introduced in 1927, The Hardy Boys Mystery Stories are a series of books about the adventures of brothers Frank and Joe Hardy, teenaged detectives who solve one baffling mystery after another. The
Hardy Boys were so popular among young boys that in 1930 a similar series was created for girls featuring a sixteen-year-old detective named Nancy Drew. The cover of each volume of The Hardy Boys states
that the author of the series is Franklin W. Dixon; the Nancy Drew Mystery Stories are supposedly written by Carolyn Keene. Over the years, though, many fans of both series have been surprised to find out that
Franklin W. Dixon and Carolyn Keene are not real people. If Franklin W. Dixon and Carolyn Keene never existed, then who wrote The Hardy Boys and Nancy Drew mysteries?

The Hardy Boys and the Nancy Drew books were written through a process called ghostwriting. A ghostwriter writes a book according to a specific formula. While ghostwriters are paid for writing the books,
their authorship is not acknowledged, and their names do not appear on the published books. Ghostwriters can write books for children or adults, the content of which is unspecific. Sometimes they work on
book series with a lot of individual titles, such as The Hardy Boys and the Nancy Drew series.

The initial idea for both The Hardy Boys and the Nancy Drew series was developed by a man named Edward Stratemeyer, who owned a publishing company that specialized in children’s books. Stratemeyer
noticed the increasing popularity of mysteries among adults, and surmised that children would enjoy reading mysteries about younger detectives with whom they could identify. Stratemeyer first developed
each book with an outline describing the plot and setting. Once he completed the outline, Stratemeyer then hired a ghostwriter to convert it into a book of slightly over 200 pages. After the ghostwriter had
written a draft of a book, he or she would send it back to Stratemeyer, who would make a list of corrections and mail it back to the ghostwriter. The ghostwriter would revise the book according to Stratemeyer's
instructions and then return it to him. Once Stratemeyer approved the book, it was ready for publication.

Because each series ran for so many years, Nancy Drew and The Hardy Boys both had a number of different ghostwriters producing books; however, the first ghostwriter for each series proved to be the
most influential. The initial ghostwriter for The Hardy Boys was a Canadian journalist named Leslie McFarlane. A few years later, Mildred A. Wirt, a young writer from lowa, began writing the Nancy Drew books.
Although they were using prepared outlines as guides, both McFarlane and Wirt developed the characters themselves. The personalities of Frank and Joe Hardy and Nancy Drew arose directly from McFarlane’s
and Wirt's imaginations. For example, Mildred Wirt had been a star college athlete and gave Nancy similar athletic abilities. The ghostwriters were also responsible for numerous plot and setting details. Leslie
McFarlane used elements of his small Canadian town to create Bayport, the Hardy Boys' fictional hometown.

Although The Hardy Boys and Nancy Drew books were very popular with
children, not everyone approved of them. Critics thought their plots were unrealistic and even far-fetched, since most teenagers did not experience the adventures Frank and Joe Hardy or Nancy Drew did. The
way the books were written also attracted criticism. Many teachers and librarians objected to the ghostwriting process, claiming it was designed to produce books quickly rather than create quality literature.
Some libraries—including the New York Public Library—even refused to include the books in their children’s collections. Ironically, this decision actually helped sales of the books, because children simply
purchased them when they were unavailable in local libraries.

O 1925
Q 1927
O 1929
(O 1930

Answer of above question: 1930

Q34. Which of the following would be the most fitting title for this passage?
Directions: Read the passage. Then answer the questions below.



First introduced in 1927, The Hardy Boys Mystery Stories are a series of books about the adventures of brothers Frank and Joe Hardy, teenaged detectives who solve one baffling mystery after another. The
Hardy Boys were so popular among young boys that in 1930 a similar series was created for girls featuring a sixteen-year-old detective named Nancy Drew. The cover of each volume of The Hardy Boys states
that the author of the series is Franklin W. Dixon; the Nancy Drew Mystery Stories are supposedly written by Carolyn Keene. Over the years, though, many fans of both series have been surprised to find out that
Franklin W. Dixon and Carolyn Keene are not real people. If Franklin W. Dixon and Carolyn Keene never existed, then who wrote The Hardy Boys and Nancy Drew mysteries?

The Hardy Boys and the Nancy Drew books were written through a process called ghostwriting. A ghostwriter writes a book according to a specific formula. While ghostwriters are paid for writing the books,
their authorship is not acknowledged, and their names do not appear on the published books. Ghostwriters can write books for children or adults, the content of which is unspecific. Sometimes they work on

book series with a lot of individual titles, such as The Hardy Boys and the Nancy Drew series.

The initial idea for both The Hardy Boys and the Nancy Drew series was developed by a man named Edward Stratemeyer, who owned a publishing company that specialized in children’s books. Stratemeyer
noticed the increasing popularity of mysteries among adults, and surmised that children would enjoy reading mysteries about younger detectives with whom they could identify. Stratemeyer first developed
each book with an outline describing the plot and setting. Once he completed the outline, Stratemeyer then hired a ghostwriter to convert it into a book of slightly over 200 pages. After the ghostwriter had
written a draft of a book, he or she would send it back to Stratemeyer, who would make a list of corrections and mail it back to the ghostwriter. The ghostwriter would revise the book according to Stratemeyer's
instructions and then return it to him. Once Stratemeyer approved the book, it was ready for publication.

Because each series ran for so many years, Nancy Drew and The Hardy Boys both had a number of different ghostwriters producing books; however, the first ghostwriter for each series proved to be the most
influential. The initial ghostwriter for The Hardy Boys was a Canadian journalist named Leslie McFarlane. A few years later, Mildred A. Wirt, a young writer from lowa, began writing the Nancy Drew books.
Although they were using prepared outlines as guides, both McFarlane and Wirt developed the characters themselves. The personalities of Frank and Joe Hardy and Nancy Drew arose directly from McFarlane’s
and Wirt's imaginations. For example, Mildred Wirt had been a star college athlete and gave Nancy similar athletic abilities. The ghostwriters were also responsible for numerous plot and setting details. Leslie
McFarlane used elements of his small Canadian town to create Bayport, the Hardy Boys' fictional hometown.

Although The Hardy Boys and Nancy Drew books were very popular with
children, not everyone approved of them. Critics thought their plots were unrealistic and even far-fetched, since most teenagers did not experience the adventures Frank and Joe Hardy or Nancy Drew did. The
way the books were written also attracted criticism. Many teachers and librarians objected to the ghostwriting process, claiming it was designed to produce books quickly rather than create quality literature.
Some libraries—including the New York Public Library—even refused to include the books in their children’s collections. Ironically, this decision actually helped sales of the books, because children simply
purchased them when they were unavailable in local libraries.

() Ghostwriting: A Way of Life

O Who Were Leslie McFarlane and Mildred A. Wirt?

O The Hardy Boys and Nancy Drew: Ghostwriting a Series

O The Dubious yet Profitable Practice of Ghostwriting

Answer of above question: The Hardy Boys and Nancy Drew: Ghostwriting a Series

Q35. According to the passage, which of the following persons was a real writer?
Directions: Read the passage. Then answer the questions below.
First introduced in 1927, The Hardy Boys Mystery Stories are a series of books about the adventures of brothers Frank and Joe Hardy, teenaged detectives who solve one baffling mystery after another. The
Hardy Boys were so popular among young boys that in 1930 a similar series was created for girls featuring a sixteen-year-old detective named Nancy Drew. The cover of each volume of The Hardy Boys states
that the author of the series is Franklin W. Dixon; the Nancy Drew Mystery Stories are supposedly written by Carolyn Keene. Over the years, though, many fans of both series have been surprised to find out that
Franklin W. Dixon and Carolyn Keene are not real people. If Franklin W. Dixon and Carolyn Keene never existed, then who wrote The Hardy Boys and Nancy Drew mysteries?

The Hardy Boys and the Nancy Drew books were written through a process called ghostwriting. A ghostwriter writes a book according to a specific formula. While ghostwriters are paid for writing the books,
their authorship is not acknowledged, and their names do not appear on the published books. Ghostwriters can write books for children or adults, the content of which is unspecific. Sometimes they work on
book series with a lot of individual titles, such as The Hardy Boys and the Nancy Drew series.

The initial idea for both The Hardy Boys and the Nancy Drew series was developed by a man named Edward Stratemeyer, who owned a publishing company that specialized in children’s books. Stratemeyer
noticed the increasing popularity of mysteries among adults, and surmised that children would enjoy reading mysteries about younger detectives with whom they could identify. Stratemeyer first developed
each book with an outline describing the plot and setting. Once he completed the outline, Stratemeyer then hired a ghostwriter to convert it into a book of slightly over 200 pages. After the ghostwriter had
written a draft of a book, he or she would send it back to Stratemeyer, who would make a list of corrections and mail it back to the ghostwriter. The ghostwriter would revise the book according to Stratemeyer's
instructions and then return it to him. Once Stratemeyer approved the book, it was ready for publication.

Because each series ran for so many years, Nancy Drew and The Hardy Boys both had a number of different ghostwriters producing books; however, the first ghostwriter for each series proved to be the most
influential. The initial ghostwriter for The Hardy Boys was a Canadian journalist named Leslie McFarlane. A few years later, Mildred A. Wirt, a young writer from lowa, began writing the Nancy Drew books.
Although they were using prepared outlines as guides, both McFarlane and Wirt developed the characters themselves. The personalities of Frank and Joe Hardy and Nancy Drew arose directly from McFarlane's
and Wirt's imaginations. For example, Mildred Wirt had been a star college athlete and gave Nancy similar athletic abilities. The ghostwriters were also responsible for numerous plot and setting details. Leslie
McFarlane used elements of his small Canadian town to create Bayport, the Hardy Boys' fictional hometown.

Although The Hardy Boys and Nancy Drew books were very popular with

children, not everyone approved of them. Critics thought their plots were unrealistic and even far-fetched, since most teenagers did not experience the adventures Frank and Joe Hardy or Nancy Drew did. The
way the books were written also attracted criticism. Many teachers and librarians objected to the ghostwriting process, claiming it was designed to produce books quickly rather than create quality literature.
Some libraries—including the New York Public Library—even refused to include the books in their children’s collections. Ironically, this decision actually helped sales of the books, because children simply
purchased them when they were unavailable in local libraries.

O Carolyn Keene
O Franklin W. Dixon
O Leslie McFarlane
() Joe Hardy

Answer of above question: Leslie McFarlane

Q36. According to the passage, a ghostwriter is someone whO

I. writes about mysterious or strange events

II. does not receive credit as the author

1. bases his or her books on predetermined guidelines

Directions: Read the passage. Then answer the questions below.

First introduced in 1927, The Hardy Boys Mystery Stories are a series of books about the adventures of brothers Frank and Joe Hardy, teenaged detectives who solve one baffling mystery after another. The
Hardy Boys were so popular among young boys that in 1930 a similar series was created for girls featuring a sixteen-year-old detective named Nancy Drew. The cover of each volume of The Hardy Boys states
that the author of the series is Franklin W. Dixon; the Nancy Drew Mystery Stories are supposedly written by Carolyn Keene. Over the years, though, many fans of both series have been surprised to find out that
Franklin W. Dixon and Carolyn Keene are not real people. If Franklin W. Dixon and Carolyn Keene never existed, then who wrote The Hardy Boys and Nancy Drew mysteries?

The Hardy Boys and the Nancy Drew books were written through a process called ghostwriting. A ghostwriter writes a book according to a specific formula. While ghostwriters are paid for writing the books,
their authorship is not acknowledged, and their names do not appear on the published books. Ghostwriters can write books for children or adults, the content of which is unspecific. Sometimes they work on

book series with a lot of individual titles, such as The Hardy Boys and the Nancy Drew series.

The initial idea for both The Hardy Boys and the Nancy Drew series was developed by a man named Edward Stratemeyer, who owned a publishing company that specialized in children’s books. Stratemeyer
noticed the increasing popularity of mysteries among adults, and surmised that children would enjoy reading mysteries about younger detectives with whom they could identify. Stratemeyer first developed
each book with an outline describing the plot and setting. Once he completed the outline, Stratemeyer then hired a ghostwriter to convert it into a book of slightly over 200 pages. After the ghostwriter had
written a draft of a book, he or she would send it back to Stratemeyer, who would make a list of corrections and mail it back to the ghostwriter. The ghostwriter would revise the book according to Stratemeyer's
instructions and then return it to him. Once Stratemeyer approved the book, it was ready for publication.

Because each series ran for so many years, Nancy Drew and The Hardy Boys both had a number of different ghostwriters producing books; however, the first ghostwriter for each series proved to be the most
influential. The initial ghostwriter for The Hardy Boys was a Canadian journalist named Leslie McFarlane. A few years later, Mildred A. Wirt, a young writer from lowa, began writing the Nancy Drew books.
Although they were using prepared outlines as guides, both McFarlane and Wirt developed the characters themselves. The personalities of Frank and Joe Hardy and Nancy Drew arose directly from McFarlane's
and Wirt's imaginations. For example, Mildred Wirt had been a star college athlete and gave Nancy similar athletic abilities. The ghostwriters were also responsible for numerous plot and setting details. Leslie
McFarlane used elements of his small Canadian town to create Bayport, the Hardy Boys' fictional hometown.



Although The Hardy Boys and Nancy Drew books were very popular with

children, not everyone approved of them. Critics thought their plots were unrealistic and even far-fetched, since most teenagers did not experience the adventures Frank and Joe Hardy or Nancy Drew did. The
way the books were written also attracted criticism. Many teachers and librarians objected to the ghostwriting process, claiming it was designed to produce books quickly rather than create quality literature.
Some libraries—including the New York Public Library—even refused to include the books in their children’s collections. Ironically, this decision actually helped sales of the books, because children simply
purchased them when they were unavailable in local libraries.

(O tonly

O I'and Il only
O Il'and Il only
(O Ll and

Answer of above question: Il and Il only

Q37. As used in paragraph 3, which is the best definition for surmised?
Directions: Read the passage. Then answer the questions below.
First introduced in 1927, The Hardy Boys Mystery Stories are a series of books about the adventures of brothers Frank and Joe Hardy, teenaged detectives who solve one baffling mystery after another. The
Hardy Boys were so popular among young boys that in 1930 a similar series was created for girls featuring a sixteen-year-old detective named Nancy Drew. The cover of each volume of The Hardy Boys states
that the author of the series is Franklin W. Dixon; the Nancy Drew Mystery Stories are supposedly written by Carolyn Keene. Over the years, though, many fans of both series have been surprised to find out that
Franklin W. Dixon and Carolyn Keene are not real people. If Franklin W. Dixon and Carolyn Keene never existed, then who wrote The Hardy Boys and Nancy Drew mysteries?

The Hardy Boys and the Nancy Drew books were written through a process called ghostwriting. A ghostwriter writes a book according to a specific formula. While ghostwriters are paid for writing the books,
their authorship is not acknowledged, and their names do not appear on the published books. Ghostwriters can write books for children or adults, the content of which is unspecific. Sometimes they work on
book series with a lot of individual titles, such as The Hardy Boys and the Nancy Drew series.

The initial idea for both The Hardy Boys and the Nancy Drew series was developed by a man named Edward Stratemeyer, who owned a publishing company that specialized in children’s books. Stratemeyer
noticed the increasing popularity of mysteries among adults, and surmised that children would enjoy reading mysteries about younger detectives with whom they could identify. Stratemeyer first developed
each book with an outline describing the plot and setting. Once he completed the outline, Stratemeyer then hired a ghostwriter to convert it into a book of slightly over 200 pages. After the ghostwriter had
written a draft of a book, he or she would send it back to Stratemeyer, who would make a list of corrections and mail it back to the ghostwriter. The ghostwriter would revise the book according to Stratemeyer's
instructions and then return it to him. Once Stratemeyer approved the book, it was ready for publication.

Because each series ran for so many years, Nancy Drew and The Hardy Boys both had a number of different ghostwriters producing books; however, the first ghostwriter for each series proved to be the most
influential. The initial ghostwriter for The Hardy Boys was a Canadian journalist named Leslie McFarlane. A few years later, Mildred A. Wirt, a young writer from lowa, began writing the Nancy Drew books.
Although they were using prepared outlines as guides, both McFarlane and Wirt developed the characters themselves. The personalities of Frank and Joe Hardy and Nancy Drew arose directly from McFarlane's
and Wirt's imaginations. For example, Mildred Wirt had been a star college athlete and gave Nancy similar athletic abilities. The ghostwriters were also responsible for numerous plot and setting details. Leslie
McFarlane used elements of his small Canadian town to create Bayport, the Hardy Boys' fictional hometown.

Although The Hardy Boys and Nancy Drew books were very popular with

children, not everyone approved of them. Critics thought their plots were unrealistic and even far-fetched, since most teenagers did not experience the adventures Frank and Joe Hardy or Nancy Drew did. The
way the books were written also attracted criticism. Many teachers and librarians objected to the ghostwriting process, claiming it was designed to produce books quickly rather than create quality literature.
Some libraries—including the New York Public Library—even refused to include the books in their children’s collections. Ironically, this decision actually helped sales of the books, because children simply
purchased them when they were unavailable in local libraries.

O guessed
(O questioned
() knew

O proved

Answer of above question: guessed

Q38. According to the passage, The Hardy Boys and Nancy Drew books were created based on the ideas
that

I. mystery books for adults are popular

II. children enjoy reading about characters they can relate to

1. girls and boys are not interested in the same things

Directions: Read the passage. Then answer the questions below.

First introduced in 1927, The Hardy Boys Mystery Stories are a series of books about the adventures of brothers Frank and Joe Hardy, teenaged detectives who solve one baffling mystery after another. The
Hardy Boys were so popular among young boys that in 1930 a similar series was created for girls featuring a sixteen-year-old detective named Nancy Drew. The cover of each volume of The Hardy Boys states
that the author of the series is Franklin W. Dixon; the Nancy Drew Mystery Stories are supposedly written by Carolyn Keene. Over the years, though, many fans of both series have been surprised to find out that
Franklin W. Dixon and Carolyn Keene are not real people. If Franklin W. Dixon and Carolyn Keene never existed, then who wrote The Hardy Boys and Nancy Drew mysteries?

The Hardy Boys and the Nancy Drew books were written through a process called ghostwriting. A ghostwriter writes a book according to a specific formula. While ghostwriters are paid for writing the books,
their authorship is not acknowledged, and their names do not appear on the published books. Ghostwriters can write books for children or adults, the content of which is unspecific. Sometimes they work on
book series with a lot of individual titles, such as The Hardy Boys and the Nancy Drew series.

The initial idea for both The Hardy Boys and the Nancy Drew series was developed by a man named Edward Stratemeyer, who owned a publishing company that specialized in children’s books. Stratemeyer
noticed the increasing popularity of mysteries among adults, and surmised that children would enjoy reading mysteries about younger detectives with whom they could identify. Stratemeyer first developed
each book with an outline describing the plot and setting. Once he completed the outline, Stratemeyer then hired a ghostwriter to convert it into a book of slightly over 200 pages. After the ghostwriter had
written a draft of a book, he or she would send it back to Stratemeyer, who would make a list of corrections and mail it back to the ghostwriter. The ghostwriter would revise the book according to Stratemeyer's
instructions and then return it to him. Once Stratemeyer approved the book, it was ready for publication.

Because each series ran for so many years, Nancy Drew and The Hardy Boys both had a number of different ghostwriters producing books; however, the first ghostwriter for each series proved to be the most
influential. The initial ghostwriter for The Hardy Boys was a Canadian journalist named Leslie McFarlane. A few years later, Mildred A. Wirt, a young writer from lowa, began writing the Nancy Drew books.
Although they were using prepared outlines as guides, both McFarlane and Wirt developed the characters themselves. The personalities of Frank and Joe Hardy and Nancy Drew arose directly from McFarlane’s
and Wirt's imaginations. For example, Mildred Wirt had been a star college athlete and gave Nancy similar athletic abilities. The ghostwriters were also responsible for numerous plot and setting details. Leslie
McFarlane used elements of his small Canadian town to create Bayport, the Hardy Boys' fictional hometown.

Although The Hardy Boys and Nancy Drew books were very popular with

children, not everyone approved of them. Critics thought their plots were unrealistic and even far-fetched, since most teenagers did not experience the adventures Frank and Joe Hardy or Nancy Drew did. The
way the books were written also attracted criticism. Many teachers and librarians objected to the ghostwriting process, claiming it was designed to produce books quickly rather than create quality literature.
Some libraries—including the New York Public Library—even refused to include the books in their children’s collections. Ironically, this decision actually helped sales of the books, because children simply
purchased them when they were unavailable in local libraries.

O | only

O I'and Il only
O Il 'and Ill only
(O Ll and

Answer of above question: | and Il only

Q39. Which of the following best describes the author's attitude toward The Hardy Boys and Nancy Drew
book series?
Directions: Read the passage. Then answer the questions below.
First introduced in 1927, The Hardy Boys Mystery Stories are a series of books about the adventures of brothers Frank and Joe Hardy, teenaged detectives who solve one baffling mystery after another. The
Hardy Boys were so popular among young boys that in 1930 a similar series was created for girls featuring a sixteen-year-old detective named Nancy Drew. The cover of each volume of The Hardy Boys states
that the author of the series is Franklin W. Dixon; the Nancy Drew Mystery Stories are supposedly written by Carolyn Keene. Over the years, though, many fans of both series have been surprised to find out that
Franklin W. Dixon and Carolyn Keene are not real people. If Franklin W. Dixon and Carolyn Keene never existed, then who wrote The Hardy Boys and Nancy Drew mysteries?



The Hardy Boys and the Nancy Drew books were written through a process called ghostwriting. A ghostwriter writes a book according to a specific formula. While ghostwriters are paid for writing the books,
their authorship is not acknowledged, and their names do not appear on the published books. Ghostwriters can write books for children or adults, the content of which is unspecific. Sometimes they work on
book series with a lot of individual titles, such as The Hardy Boys and the Nancy Drew series.

The initial idea for both The Hardy Boys and the Nancy Drew series was developed by a man named Edward Stratemeyer, who owned a publishing company that specialized in children’s books. Stratemeyer
noticed the increasing popularity of mysteries among adults, and surmised that children would enjoy reading mysteries about younger detectives with whom they could identify. Stratemeyer first developed
each book with an outline describing the plot and setting. Once he completed the outline, Stratemeyer then hired a ghostwriter to convert it into a book of slightly over 200 pages. After the ghostwriter had
written a draft of a book, he or she would send it back to Stratemeyer, who would make a list of corrections and mail it back to the ghostwriter. The ghostwriter would revise the book according to Stratemeyer's
instructions and then return it to him. Once Stratemeyer approved the book, it was ready for publication.

Because each series ran for so many years, Nancy Drew and The Hardy Boys both had a number of different ghostwriters producing books; however, the first ghostwriter for each series proved to be the most
influential. The initial ghostwriter for The Hardy Boys was a Canadian journalist named Leslie McFarlane. A few years later, Mildred A. Wirt, a young writer from lowa, began writing the Nancy Drew books.
Although they were using prepared outlines as guides, both McFarlane and Wirt developed the characters themselves. The personalities of Frank and Joe Hardy and Nancy Drew arose directly from McFarlane's
and Wirt's imaginations. For example, Mildred Wirt had been a star college athlete and gave Nancy similar athletic abilities. The ghostwriters were also responsible for numerous plot and setting details. Leslie
McFarlane used elements of his small Canadian town to create Bayport, the Hardy Boys' fictional hometown.

Although The Hardy Boys and Nancy Drew books were very popular with
children, not everyone approved of them. Critics thought their plots were unrealistic and even far-fetched, since most teenagers did not experience the adventures Frank and Joe Hardy or Nancy Drew did. The
way the books were written also attracted criticism. Many teachers and librarians objected to the ghostwriting process, claiming it was designed to produce books quickly rather than create quality literature.
Some libraries—including the New York Public Library—even refused to include the books in their children’s collections. Ironically, this decision actually helped sales of the books, because children simply
purchased them when they were unavailable in local libraries.

O balanced and respectful

() doubtful and critical

(O hostile but forgiving

(O overwhelmingly praising

Answer of above question: balanced and respectful

Q40. Which of the following would be the best subtitle for this passage?
Directions: Read the passage. Then answer the questions below

Many farmers use pesticides to ensure that their crops are healthy and abundant. These chemicals kill or repel a variety of pests, including weeds, insects, and rodents, in order to prevent them from feeding on
or destroying the farmer's crops. Although there are certainly advantages to using pesticides, there are also some serious disadvantages that farmers should consider before using them on crops. Because of the
various negative effects of chemical pesticides, farmers might decide to use more natural alternatives instead.

Pesticides help crops grow larger and faster as well as allow for a wider variety of plants. Because famers who use pesticides harvest more crops than they would otherwise, they are able to sell them at lower
prices. So, by keeping the price of domestic produce low, pesticides reduce our reliance on imported products. Pesticides also allow farmers to use smaller tracts of land to raise their crops, which frees up more
land for other uses. For these reasons, many people argue that using pesticides is beneficial for both the farmer and the consumer.

Despite these advantages, there are significant dangers associated with the use of chemical pesticides. Many scientific studies have shown that the farm workers who come into contact with pesticides can
develop serious medical conditions, such as cancer, lung damage, or severe burns. When pregnant women have long-term contact with these chemicals, their unborn babies may be harmed. Studies have also
shown that when people ingest residual pesticides left on fruits and vegetables, they might suffer from many health problems. Furthermore, pesticides harm the environment; some experts estimate that over
95% of the pesticides sprayed on crops end up in the soil, water, or air, all places where they can do severe damage to the ecosystem.

How can we achieve the benefits of pesticides while minimizing these negative consequences? Some farmers have attempted to solve this conundrum by using biological pest control instead of synthetic
pesticides. For example, a farmer who wants to control an infestation of aphids on his or her crops might introduce a population of ladybugs, insects that prey on aphids. Wasps can also be helpful, as they eat
caterpillars and beetles, which destroy many crops. Because wasps also eat nectar, they supply the additional benefit of pollinating plants as they fly from flower to flower. Farmers can also use trap crops, plants
that work as traps to lure insects away from the crop farmers are trying to protect. A field of cotton plants, for instance, can be protected by nearby alfalfa plants. The lygus bugs that can infest cotton are more
attracted to the alfalfa plants, and so they will eat the trap crop instead of destroying the cotton.

Even though biological pest control seems safer than using synthetic pesticides, there are still risks involved. Introducing a non-native species into a new environment might create a great deal of problems in
the ecosystem. Furthermore, biological pest control does not work nearly as quickly as chemical pesticides; it may take weeks or months for a trap crop to successfully lure insects away from the protected crop.
This solution is obviously not effective for pest problems that require immediate action. Finally, pests can become increasingly resistant to any form of pest control, whether it is biological or synthetic. Although
biological pest control might not be a perfect solution to the pest problem, it is the one that seems to carry the least risk for both human beings and the environment.

O The Dangers of Chemical Pesticides

O A Farmer’s Biggest Dilemma

() Biological Pest Control: The Lesser of Two Evils

O The Economic Benefits of Using Biological Pest Control

Answer of above question: Biological Pest Control: The Lesser of Two Evils

Q41. The author likely chooses to include paragraph 2, which outlines the benefits of chemical pesticides, in order to

I. present a balanced perspective before concluding that it is better to use biological pest control

II. provide sufficient information so that readers can develop their own conclusions about chemical pesticides versus biological pest control
lll. demonstrate that chemical pesticides are more effective than biological pest control

Directions: Read the passage. Then answer the questions below

Many farmers use pesticides to ensure that their crops are healthy and abundant. These chemicals kill or repel a variety of pests, including weeds, insects, and rodents, in order to prevent them from feeding on
or destroying the farmer's crops. Although there are certainly advantages to using pesticides, there are also some serious disadvantages that farmers should consider before using them on crops. Because of the
various negative effects of chemical pesticides, farmers might decide to use more natural alternatives instead.

Pesticides help crops grow larger and faster as well as allow for a wider variety of plants. Because famers who use pesticides harvest more crops than they would otherwise, they are able to sell them at lower
prices. So, by keeping the price of domestic produce low, pesticides reduce our reliance on imported products. Pesticides also allow farmers to use smaller tracts of land to raise their crops, which frees up more
land for other uses. For these reasons, many people argue that using pesticides is beneficial for both the farmer and the consumer.

Despite these advantages, there are significant dangers associated with the use of chemical pesticides. Many scientific studies have shown that the farm workers who come into contact with pesticides can
develop serious medical conditions, such as cancer, lung damage, or severe burns. When pregnant women have long-term contact with these chemicals, their unborn babies may be harmed. Studies have also
shown that when people ingest residual pesticides left on fruits and vegetables, they might suffer from many health problems. Furthermore, pesticides harm the environment; some experts estimate that over
95% of the pesticides sprayed on crops end up in the soil, water, or air, all places where they can do severe damage to the ecosystem.

How can we achieve the benefits of pesticides while minimizing these negative consequences? Some farmers have attempted to solve this conundrum by using biological pest control instead of synthetic
pesticides. For example, a farmer who wants to control an infestation of aphids on his or her crops might introduce a population of ladybugs, insects that prey on aphids. Wasps can also be helpful, as they eat
caterpillars and beetles, which destroy many crops. Because wasps also eat nectar, they supply the additional benefit of pollinating plants as they fly from flower to flower. Farmers can also use trap crops, plants
that work as traps to lure insects away from the crop farmers are trying to protect. A field of cotton plants, for instance, can be protected by nearby alfalfa plants. The lygus bugs that can infest cotton are more
attracted to the alfalfa plants, and so they will eat the trap crop instead of destroying the cotton.

Even though biological pest control seems safer than using synthetic pesticides, there are still risks involved. Introducing a non-native species into a new environment might create a great deal of problems in
the ecosystem. Furthermore, biological pest control does not work nearly as quickly as chemical pesticides; it may take weeks or months for a trap crop to successfully lure insects away from the protected crop.
This solution is obviously not effective for pest problems that require immediate action. Finally, pests can become increasingly resistant to any form of pest control, whether it is biological or synthetic. Although
biological pest control might not be a perfect solution to the pest problem, it is the one that seems to carry the least risk for both human beings and the environment.

O | only
O Il only
O I'and Il only
(O Mrand il only



Answer of above question: | only

Q42. As used in paragraph 4, which is the best synonym for conundrum?
Directions: Read the passage. Then answer the questions below

Many farmers use pesticides to ensure that their crops are healthy and abundant. These chemicals kill or repel a variety of pests, including weeds, insects, and rodents, in order to prevent them from feeding on
or destroying the farmer’s crops. Although there are certainly advantages to using pesticides, there are also some serious disadvantages that farmers should consider before using them on crops. Because of the
various negative effects of chemical pesticides, farmers might decide to use more natural alternatives instead.

Pesticides help crops grow larger and faster as well as allow for a wider variety of plants. Because famers who use pesticides harvest more crops than they would otherwise, they are able to sell them at lower
prices. So, by keeping the price of domestic produce low, pesticides reduce our reliance on imported products. Pesticides also allow farmers to use smaller tracts of land to raise their crops, which frees up more
land for other uses. For these reasons, many people argue that using pesticides is beneficial for both the farmer and the consumer.

Despite these advantages, there are significant dangers associated with the use of chemical pesticides. Many scientific studies have shown that the farm workers who come into contact with pesticides can
develop serious medical conditions, such as cancer, lung damage, or severe burns. When pregnant women have long-term contact with these chemicals, their unborn babies may be harmed. Studies have also
shown that when people ingest residual pesticides left on fruits and vegetables, they might suffer from many health problems. Furthermore, pesticides harm the environment; some experts estimate that over
95% of the pesticides sprayed on crops end up in the soil, water, or air, all places where they can do severe damage to the ecosystem.

How can we achieve the benefits of pesticides while minimizing these negative consequences? Some farmers have attempted to solve this conundrum by using biological pest control instead of synthetic
pesticides. For example, a farmer who wants to control an infestation of aphids on his or her crops might introduce a population of ladybugs, insects that prey on aphids. Wasps can also be helpful, as they eat
caterpillars and beetles, which destroy many crops. Because wasps also eat nectar, they supply the additional benefit of pollinating plants as they fly from flower to flower. Farmers can also use trap crops, plants
that work as traps to lure insects away from the crop farmers are trying to protect. A field of cotton plants, for instance, can be protected by nearby alfalfa plants. The lygus bugs that can infest cotton are more
attracted to the alfalfa plants, and so they will eat the trap crop instead of destroying the cotton.

Even though biological pest control seems safer than using synthetic pesticides, there are still risks involved. Introducing a non-native species into a new environment might create a great deal of problems in
the ecosystem. Furthermore, biological pest control does not work nearly as quickly as chemical pesticides; it may take weeks or months for a trap crop to successfully lure insects away from the protected crop.
This solution is obviously not effective for pest problems that require immediate action. Finally, pests can become increasingly resistant to any form of pest control, whether it is biological or synthetic. Although
biological pest control might not be a perfect solution to the pest problem, it is the one that seems to carry the least risk for both human beings and the environment.

O puzzle
() obstacle
O failure
() disaster

Answer of above question: puzzle

Q43. Paragraph 4 begins: "How can we achieve the benefits of pesticides while minimizing these negative consequences?” Which of the following literary devices does the author use in this line?
Directions: Read the passage. Then answer the questions below

Many farmers use pesticides to ensure that their crops are healthy and abundant. These chemicals kill or repel a variety of pests, including weeds, insects, and rodents, in order to prevent them from feeding on
or destroying the farmer's crops. Although there are certainly advantages to using pesticides, there are also some serious disadvantages that farmers should consider before using them on crops. Because of the
various negative effects of chemical pesticides, farmers might decide to use more natural alternatives instead.

Pesticides help crops grow larger and faster as well as allow for a wider variety of plants. Because famers who use pesticides harvest more crops than they would otherwise, they are able to sell them at lower
prices. So, by keeping the price of domestic produce low, pesticides reduce our reliance on imported products. Pesticides also allow farmers to use smaller tracts of land to raise their crops, which frees up more
land for other uses. For these reasons, many people argue that using pesticides is beneficial for both the farmer and the consumer.

Despite these advantages, there are significant dangers associated with the use of chemical pesticides. Many scientific studies have shown that the farm workers who come into contact with pesticides can
develop serious medical conditions, such as cancer, lung damage, or severe burns. When pregnant women have long-term contact with these chemicals, their unborn babies may be harmed. Studies have also
shown that when people ingest residual pesticides left on fruits and vegetables, they might suffer from many health problems. Furthermore, pesticides harm the environment; some experts estimate that over
95% of the pesticides sprayed on crops end up in the soil, water, or air, all places where they can do severe damage to the ecosystem.

How can we achieve the benefits of pesticides while minimizing these negative consequences? Some farmers have attempted to solve this conundrum by using biological pest control instead of synthetic
pesticides. For example, a farmer who wants to control an infestation of aphids on his or her crops might introduce a population of ladybugs, insects that prey on aphids. Wasps can also be helpful, as they eat
caterpillars and beetles, which destroy many crops. Because wasps also eat nectar, they supply the additional benefit of pollinating plants as they fly from flower to flower. Farmers can also use trap crops, plants
that work as traps to lure insects away from the crop farmers are trying to protect. A field of cotton plants, for instance, can be protected by nearby alfalfa plants. The lygus bugs that can infest cotton are more
attracted to the alfalfa plants, and so they will eat the trap crop instead of destroying the cotton.

Even though biological pest control seems safer than using synthetic pesticides, there are still risks involved. Introducing a non-native species into a new environment might create a great deal of problems in
the ecosystem. Furthermore, biological pest control does not work nearly as quickly as chemical pesticides; it may take weeks or months for a trap crop to successfully lure insects away from the protected crop.
This solution is obviously not effective for pest problems that require immediate action. Finally, pests can become increasingly resistant to any form of pest control, whether it is biological or synthetic. Although
biological pest control might not be a perfect solution to the pest problem, it is the one that seems to carry the least risk for both human beings and the environment.

O Ambiguity, characterized by the expression of an idea in such a way that it becomes possible to glean more than one meaning from it.

O Hyperbole, characterized by the use of specific words and phrases that exaggerate and overemphasize the core of the statement in order to produce a grander, more noticeable effect. This usually works to con'
O Indirect question, characterized by a sentence that reports a question instead of directly asking one.

O Rhetorical question, characterized by a question posed for effect rather than one that expects a reply.

Answer of above question: Rhetorical question, characterized by a question posed for effect rather than one that expects a reply.

Q44. Which of the following would provide support for the author's overall argument?
Directions: Read the passage. Then answer the questions below

Many farmers use pesticides to ensure that their crops are healthy and abundant. These chemicals kill or repel a variety of pests, including weeds, insects, and rodents, in order to prevent them from feeding on
or destroying the farmer’s crops. Although there are certainly advantages to using pesticides, there are also some serious disadvantages that farmers should consider before using them on crops. Because of the
various negative effects of chemical pesticides, farmers might decide to use more natural alternatives instead.

Pesticides help crops grow larger and faster as well as allow for a wider variety of plants. Because famers who use pesticides harvest more crops than they would otherwise, they are able to sell them at lower
prices. So, by keeping the price of domestic produce low, pesticides reduce our reliance on imported products. Pesticides also allow farmers to use smaller tracts of land to raise their crops, which frees up more
land for other uses. For these reasons, many people argue that using pesticides is beneficial for both the farmer and the consumer.

Despite these advantages, there are significant dangers associated with the use of chemical pesticides. Many scientific studies have shown that the farm workers who come into contact with pesticides can
develop serious medical conditions, such as cancer, lung damage, or severe burns. When pregnant women have long-term contact with these chemicals, their unborn babies may be harmed. Studies have also
shown that when people ingest residual pesticides left on fruits and vegetables, they might suffer from many health problems. Furthermore, pesticides harm the environment; some experts estimate that over
95% of the pesticides sprayed on crops end up in the soil, water, or air, all places where they can do severe damage to the ecosystem.

How can we achieve the benefits of pesticides while minimizing these negative consequences? Some farmers have attempted to solve this conundrum by using biological pest control instead of synthetic
pesticides. For example, a farmer who wants to control an infestation of aphids on his or her crops might introduce a population of ladybugs, insects that prey on aphids. Wasps can also be helpful, as they eat
caterpillars and beetles, which destroy many crops. Because wasps also eat nectar, they supply the additional benefit of pollinating plants as they fly from flower to flower. Farmers can also use trap crops, plants
that work as traps to lure insects away from the crop farmers are trying to protect. A field of cotton plants, for instance, can be protected by nearby alfalfa plants. The lygus bugs that can infest cotton are more
attracted to the alfalfa plants, and so they will eat the trap crop instead of destroying the cotton.

Even though biological pest control seems safer than using synthetic pesticides, there are still risks involved. Introducing a non-native species into a new environment might create a great deal of problems in
the ecosystem. Furthermore, biological pest control does not work nearly as quickly as chemical pesticides; it may take weeks or months for a trap crop to successfully lure insects away from the protected crop.
This solution is obviously not effective for pest problems that require immediate action. Finally, pests can become increasingly resistant to any form of pest control, whether it is biological or synthetic. Although
biological pest control might not be a perfect solution to the pest problem, it is the one that seems to carry the least risk for both human beings and the environment.

O Studies have shown that a ban on chemical pesticides in the United States might result in rising food prices, job loss, and an increase in world hunger.

O Scientists have discovered a natural, environmentally-friendly fertilizer that helps wheat crops grow twice as fast as they normally do.



O Farmers who do not use any sort of pest control on their crops grow 30% less produce than farmers who use some kind of pesticide.
O The use of trap crops in Sudan has dramatically increased the production of crops such as sorghum and maize.

Answer of above question: The use of trap crops in Sudan has dramatically increased the production of crops such as sorghum and maize.

Q45. In the final paragraph, the author writes, ""Although biological pest control might not be a perfect solution to the pest problem, it is the one that seems to carry the least risk for both human beings and the

environment."" The author most likely admits that biological pest control is not ""a perfect solution"" because

Directions: Read the passage. Then answer the questions below

Many farmers use pesticides to ensure that their crops are healthy and abundant. These chemicals kill or repel a variety of pests, including weeds, insects, and rodents, in order to prevent them from feeding on
or destroying the farmer’s crops. Although there are certainly advantages to using pesticides, there are also some serious disadvantages that farmers should consider before using them on crops. Because of the
various negative effects of chemical pesticides, farmers might decide to use more natural alternatives instead.

Pesticides help crops grow larger and faster as well as allow for a wider variety of plants. Because famers who use pesticides harvest more crops than they would otherwise, they are able to sell them at lower
prices. So, by keeping the price of domestic produce low, pesticides reduce our reliance on imported products. Pesticides also allow farmers to use smaller tracts of land to raise their crops, which frees up more
land for other uses. For these reasons, many people argue that using pesticides is beneficial for both the farmer and the consumer.

Despite these advantages, there are significant dangers associated with the use of chemical pesticides. Many scientific studies have shown that the farm workers who come into contact with pesticides can
develop serious medical conditions, such as cancer, lung damage, or severe burns. When pregnant women have long-term contact with these chemicals, their unborn babies may be harmed. Studies have also
shown that when people ingest residual pesticides left on fruits and vegetables, they might suffer from many health problems. Furthermore, pesticides harm the environment; some experts estimate that over
95% of the pesticides sprayed on crops end up in the soil, water, or air, all places where they can do severe damage to the ecosystem.

How can we achieve the benefits of pesticides while minimizing these negative consequences? Some farmers have attempted to solve this conundrum by using biological pest control instead of synthetic
pesticides. For example, a farmer who wants to control an infestation of aphids on his or her crops might introduce a population of ladybugs, insects that prey on aphids. Wasps can also be helpful, as they eat
caterpillars and beetles, which destroy many crops. Because wasps also eat nectar, they supply the additional benefit of pollinating plants as they fly from flower to flower. Farmers can also use trap crops, plants
that work as traps to lure insects away from the crop farmers are trying to protect. A field of cotton plants, for instance, can be protected by nearby alfalfa plants. The lygus bugs that can infest cotton are more
attracted to the alfalfa plants, and so they will eat the trap crop instead of destroying the cotton.

Even though biological pest control seems safer than using synthetic pesticides, there are still risks involved. Introducing a non-native species into a new environment might create a great deal of problems in
the ecosystem. Furthermore, biological pest control does not work nearly as quickly as chemical pesticides; it may take weeks or months for a trap crop to successfully lure insects away from the protected crop.
This solution is obviously not effective for pest problems that require immediate action. Finally, pests can become increasingly resistant to any form of pest control, whether it is biological or synthetic. Although
biological pest control might not be a perfect solution to the pest problem, it is the one that seems to carry the least risk for both human beings and the environment.

O the author has no hope that there will ever be an ideal solution to the problem of agricultural pests

O the author is not sure if chemical pesticides are really as dangerous as he or she originally thought

O by admitting that his or her solution is not perfect, the author shows that he or she has thought carefully about the practicality of using biological pest control
O by admitting that his or her solution is not perfect, the author shows the reader that even the best ideas have flaws

Answer of above question: by admitting that his or her solution is not perfect, the author shows that he or she has thought carefully about the practicality of using biological pest control

Q46. The maximum value of F in the following equation 6E9 + 3F8 + 4G7 = 1414 is where E, F, and G each stands for any digit.
F &1 fimad qr, &0 7] IHS0 6E9 + 3F8 + 4G7 = 1414 F T § 96l E, F 3R G # ¥ 7aw e +ff ofe & g
2l

O s
09
07
Qs

Answer of above question: 9

Q47.

O 366
O 30
Q 414
Q 25.7

Answer of above question: 36.6

Q48. The average of six consecutive odd numbers is 62. What is the summation of the lowest and highest numbers?

62, BE HHNT (990 @13 &1 IEd § 1570 T84 BIel A 989 581 9 =1 9 & Hdl 3AF 87

Q 120
Q 125
O 126

none of these options

O Rzt fwad

none of these options

Answer of above question: =5 & =15 *ft fagea =21,

Q49. Of the three numbers, the first is twice the second and the second is 3 times the third. If their average is 100, the smallest of the three numbers is
o Temel & | gech e gudl e 1 g & @R gE ge dad S #1881 3 100 ST sea 8,
o e § § 9o widl e s g
O 120
() 150
(O 180
(O 300

Answer of above question: 180

Q50. If a, b, c are three numbers such thata:b =3:4andb:c=8:9, thena: cis equal
giga b cdAgEmtes S9fFa:b=3:43Rb . c=8:9.dra:c b aTEs
O 1:3
O 23
O 32
O 12

Answer of above question: 2:3

Q51. There is a ratio of 5: 4 between the two numbers. If 60 per cent of the first is 12, then 50% of the second number is



Sr wnait =19 1 39U 5:4 §1 IS TEel S S 60 Hiwd 12 &, o gEd S %1 50% e &
O 12
O 24
O s
O 20

Answer of above question: 8

Q52. At present, the ratio of the age of Rishi and Neha is 7 : 6 and fifteen years from now, the ratio will get changed to 9 : 8. Rishi's present age is
ToaE ®, HiY SR TgT P A FT ST 76 & SR ¥F T U%E 99 o, ST 9:8 T Wl B St adwe i ot
g

45 years

45 9

50 years

50 |

52 years, 6 month

52 914, 6 HB A
40 years, 3 month

() 4owm, 378

O O O

52 years, 6 month
Answer of above question: 52 g 6 BEH

Q53. Rohit and Robert entered into a partnership with investments of 15000 and ¥ 40000 respectively. After 3 months Rohit left from the business, at the same time Rohan joins with ¥30000. At the end of 9
months, they got X 7800 as profit. Find the share of Rohit.

Tifed o Ifa 3 HH: 15000 T AT 40000 FIU & 99 & T U TRESRI(IIEET) B 3 HEH 912 Jfed
TEEM BISH 90l T, Bie Sl FHY A4 30000 FU & Y UMHA G T 9 e & Hd §, ST O & &9 8§
7800 T W gU | fEd &1 e fea &, 75 wa S iR,

O % 4800
O Z 600
O % 2,400
Q 1,200

Answer of above question: % 600

Q54. Two pipes First and Second can separately fill a cistern in 60 minutes and 75 minutes respectively. A third pipe is in the bottom of the cistern to empty it. If all the three pipes are simultaneously opened, then
the cistern is filled in 50 minutes. In how much time the third pipe alone can empty the cistern?

31 UIST TET AR GER, T3 TF Tw 1 BT AR 60 {7 R 75 BFe & +) 9%d &1 U iew1 099 <& & au §
T @t @ & R g1 afg §91 usdi @1 ue w1y g o e, d fe 50 e # v ot ¥ diew oy sied St
=1 e oo & el Y aHd1 57

1 hrs 50 minutes
(O 1ders0 fre

1 hrs 40 minutes
(O 1derao e

2hrs 0 minutes
O 2e=ofime

1 hrs 30 minutes

O 1 92T 30 fime

1 hrs 40 minutes
Answer of above question: 1 2T 40 f&-e

Q55. Mohan takes three times as long as Sohan and Roshan together to do a job. Sohan takes four times as long as Mohan and Roshan together to do the work. If all the three, working together can complete the
job in 24 days, then the number of days, Mohan alone will take to finish the job is.

HIET U@ &1 &1 & & 107 G154 A1 U8 & &1 Be- & 980T S o T 999 3l 81 65 & B &3 § Jg4
FR I F T X F TG B AR H GG @O ¢ | A 41 e w3124 B F W s g € O o5
Hied &1 &1 g S H e a7 @i

Q 100
Q 9
O 95
Q 90

Answer of above question: 96

Q56. The speed of the River flow is 5 km/hour. A motorboat goes 10 km upstream and back again to the starting point in 50 minutes. The speed (in km/hour) of the motor of the sailor is
7T & vaTE o1 1 5 Tt der 81 uw Hiewste R 3 wiage 10 fEd o § i 50 fime o iR § geendt g w
o 3 WGl 21 e w1 A @1 1 e fedder &) 8

Ozo
st
Ozs
st

Answer of above question: 25

Q57. Two trains of equal lengths are running on parallel tracks in the same direction at 46 km/h and 36 km/h, respectively. The faster train passes the slower train in 54 sec. The length of each train is
TaM das B &1 24 GAH Tefat 9 U 2 fEun & maarn 46 T ufa e oiv a6 fedt wRider wt iy S sa i €
ool 39, it ST F1 54 TS H UR A1 21 TS oF &1 9418 (-l 27

50m

(O sodiex

80 m

(O sodiex
75m

ORE: =
82m

O sz

75 m
Answer of above question: 75Htey

Q58. If the positive real numbers a, b and c are in Arithmetic Progression, such that abc= 4, then minimum possible value of b is :

o YT aTa S a, b X ¢ FAFGR S H € ¥ % abe = 4, T b T AGH 4T 71 57

O 2




2
wal s

O
O 2

None of these options

O @ 5rs &t fawe 78

Answer of above question: 2%

Q59. Ifa=2+v3,thenthevalue of 4’ +;7]
aMRa=2+3,@ (g 41 )P aE B g
a

O s
014
O 16
O1o

Answer of above question: 14

Q60. If the roots of the equation (a2 + b%)x2 — 2(ac + bd)x + (c? + d? = 0 are equal, then which of the following is true?

afE feargadisam (a2 + b3 — 2(ac + bd)x + (c2 + d2) = 0 SO €, G O B € 5 91 &9 9 27

O ab = cd
O ad= bc
O ad = Vbc
() ab=vcd

Answer of above question: ad= bc

Q61. A survey show that 63% of children like chips whereas 76% like milk. If x% of the children like both chips and milk, then find the range of x.
U FA&T F TaT 9o & 5 63% T R TE FG & T9ie 76% I= 5 THG Bud ol 3 x% 7=, fw iR gy g
THE HI &, 91 x B 1T 719 Bl
() 0s<x<23%
() 0s<x<39%
() 4sx<35%
(O 6=<x<33%

Answer of above question: 0 < x < 39%

Q62. The internal bisectors of the B and »C of the AABC intersect at O. If LA = 100°, then the measure of »BOC is
AABC % 4B 31X £C % Higiie FAGHNS O W Hiaws =3d &1 4 A = 100° &, o .BOC STHM &
(O 1400
O 10
O nee
O 130°

Answer of above question: 140°

Q63. All sides of a quadrilateral ABCD touch a circle. If AB = 60 mm, BC = 75 mm, CD = 30 mm, then DA is
TAYT ABCD @ Tt HTe U 9 &1 Tt 51 97 AB = 60 fiElt BC = 75 fet oo = 30 it drpAfET e

O 35 mm
O 45 mm
O 25 mm
O 15mm

Answer of above question: 15 mm

Q64. A coin is tossed and a dice is rolled. The probability that the coin shows the head and the dice shows 6 is
TS Fhad 51 IS 9 § SR TS U &1 ISTa oTdT &1 59 &1 S Wil & o faee fad R ue W 6 guiar g

Q 1/2
O 16
O 1/12
O 1/24

Answer of above question: 1/12

Q65. In AABC, .C =90° and AB = ¢, BC = a, CA = b; then the value of (cosec B - cos A) is
AABCH 2C=90° SR AB = ¢, BC = a, CA= b; @l (cosec B - cos A) =T A &
O c? /ab
O b? /ca
O a2/bc
O bc/a?

Answer of above question: a?/bc

Q66. The LCM of two numbers is 4 times their HCF. The sum of LCM and HCF is 125. If one of the numbers is 100, then the other number is

31 HEa &1 aYaH SHYade (e d TH)3Hs Tead SHade (U9 8l U%) 14 TH 8| T8 Faaad & 312
HETH GAIEdS SR 125 §1 98 UH 9 100 & @ g e d e

O 5

Q 25
Q 100
O 125

Answer of above question: 100

Q67. Which is the least number of square tiles required to pave the floor of a room 15 m 17 cm long and 9 m 2 cm broad?

15 Hiex 17 T @F af1T 9 Hiew 2 SH I8 U5 &8 & % & 59 & [0 B4 9 $H B aeR o5l &1
HTaGHA GT?

O 840
O 841
O 820



Q 814

Answer of above question: 814

3.25%x 325+ 1.75x .75 — 2x 3.25 % 1.75
3.25x3.25 —1.75 % 1.75
m: 3.25x 325+ 1.75%x 1.75 — 2% 3.25 « 1.75
3.25%3.25 — 1.75 «x 1.75
Q 0.5

O 0.4
O o3
Q 0.2

Answer of above question: 0.3

Q68. simplify:

Q69. The smallest among the numbers 2250, 3150, 5100 gnd 4200 s

2250 3150 5100 3f7 4200 & gad 1t G= 22
4200

5100
3150

O 2250

Answer of above question: 5'°0

Q70. 800 becomes X956 in 3 years at a certain rate of simple interest. If the rate of interest is increased by 4%, what amount will Y800 become in 3 years?

IR &Te 1 U F1ad 52 T 3 a9 # 800 U4, 956 T4 & O & | Of¢ o0Te1 &1 X H 4% @1 giG BT af oy, af 3
T # femat TR 800 F0E g Wt

31020.80

O 1020800
31,025

O 1sww@
31,052

O ws2wwd
31,050

O wsowwd

31,052
Answer of above question: 1q52 &0

Q71. On a certain sum of money, the simple interest for 2 yr is 350 at the rate of 4% per annum. If it was invested at compound interest at the same rate for the same duration as, before, how much more interest
would be earned?

e T =i W 2 7 ST IR =T 4% g1 B1 e 9 €350 £ 97 §F UEd &1 9HE Ay & A §He e W
Tmafs saTe 9% ae faar sran, 9 T sfie sara sifdd g
10

O wwad
I8
O s=m
5
O s+m@
37
O ew@

X7
Answer of above question: 7w&gg

Q72. An ice cream cone is cut parallel to it's base in such a way that height of the two parts is same. Find the ratio of the volume of these two parts.
U A5 B Bl IS HUN & TAR 59 TBR ST odl & & 31 HFl 1 $as SaM 6l 59 &H1 4El &
TYTA BT AT T BT |

O 1:8
O 1:4
O 17
(O o116

Answer of above question: 1:7

Q73. A vendor buys 12 candies for 12 and sells them at the rate of X1.25 per candy. His gain percentage is
Fhsa 2 E 2 el Elica e INTE T 25 TN S FI R E S9aT 8| 99 aIH FIURTT &
O 20%
O 25%
O 15%
O 18%

Answer of above question: 25%

Q74. A wall clock gains 2 minutes in 12 hours, while a table clock loses 2 minutes in 36 hours; both are set right at noon on Tuesday. The correct time when they both show the same time next would be
TS SER 9El 12 92 § 2 fie o 81 O &, 9ale daa get 26 9 # 2 fime O 8 9 & S daar # Eue #
31 81 Wl &1 §61 A S d Sl U ol 999 fGEIi a1 Sl SR e R 2
12: 30 night
O 1230993
None of these options
O TG B8 ff e T8
1:30 noon
O 01:30 G

12 night
O @

None of these options

Answer of above question: 378 & &1 it feeT 78T

Q75. The batting average for 30 innings of a cricket player is 40 runs. His highest score exceeds his lowest score by 100 runs. If these two innings are not included, the average of the remaining 28 innings is 38 runs.
The lowest score of the player is



= e Rwrdt i 20 it =1 el 9T 40 T 3 | SUS S=00 R S0 A0 TR F 100 T H#fiE )
ofe 57 2F1 wiivdt &1 wnfia 7 fesar 9, o 9 28 Tl &1 ofed 38 W 2| Feaet @1 man =R e g 2

ORE

None of these options
O TRz & fwam
O 20
O 12

None of these options

Answer of above question: 398 @ &13 +ff fgeea =&t

Q76. Which of the following would come in place of the question mark. In the following letter number series ?
3,8,13,24,41,7

frefefaa er gen doa §. o O € vy fog & -F o o e 2
3,8,13,24,41?

Oss
075
O7o
Qso

Answer of above question: 70

Q77. Direction : In the question a number series is given. Below the series one number is given followed by (A), (B), (C), (D) and (E). You have to complete this series following the same logic as in the original series
and answer the question that follows.

6 16 57 244 1245 7505
4 A B © O (B)

What will come in the place of (D)?

g - uy & v FEm gaa § T 31 YT & 19 Tl T (a), (8), (0), (D) AR () & T B
AP TH 4T B U T BT GeH P g¥ I B ¢ o ga duar H § o Fafatad
Y T IR &A1 § ?

i} 16 57 244 1245 7505
4 (&) (B) (C) (D) (E)
D & =M U F4T HTT?

D & YT TR &1 ATT?

O 985
Q 1105
O 1005
() 6066

Answer of above question: 1005

Q78. Who amongst the following works as an Agriculture Officer?

frofafaa # @ =9 o ofied F =ud o1 Fare?

A group of seven friends A, B, C, D, E, F and G, work as Economist, Agriculture Officer, IT Officer, Terminal Operator, Clerk, Forex Officer and Research Analyst, for Banks. L, M, N, P, Q, R and S, but not necessarily
in the same order. C works for Bank N and is neither a Research Analyst nor a Clerk. E is an IT Officer and works for Bank R. A works as Forex Officer and does not work for Bank L or Q. The one who is an
Agriculture Officer works for Bank M. The one who works for Bank L works as a Terminal Operator. F works for Bank Q. G works for Bank P as a Research Analyst. D is not an Agriculture Officer.
BT Edt A B.C, D, E, F 3T G u% Tag & & forr wdems, sy sifsrd 1T wfaed, effiae soleg,
Fars, fagell e wiusl 3T gEaE T8us & 70U F &F & &1 L M, NP, Q, R 3T 8, iffa wawms
Frs@ FA A @ CHF NF Tow &@ &3 & 3T J a1 oy g § i 3 & oo ¥ Eve gl
yrEH R T RE T sH A | AR gm yfe s ww d oA A t i dF L aF
o B TE ®a | S UF 5 AUe ¥ g 7 ME T w s w1 ¥ S % LE B e e &
T UE e Holel & w9 F# oF W & Fiw QF Tw ow wwar ¥ 6 dF PF v ey e
% ¥ F HH war ¥ D Eiy AEAr T8 &)
Oc
O s
OF
Op

Answer of above question: B

Q79. What is the profession of C?
C T OEn R
A group of seven friends A, B, C, D, E, F and G, work as Economist, Agriculture Officer, IT Officer, Terminal Operator, Clerk, Forex Officer and Research Analyst, for Banks. L, M, N, P, Q, R and S, but not necessarily
in the same order. C works for Bank N and is neither a Research Analyst nor a Clerk. E is an IT Officer and works for Bank R. A works as Forex Officer and does not work for Bank L or Q. The one who is an
Agriculture Officer works for Bank M. The one who works for Bank L works as a Terminal Operator. F works for Bank Q. G works for Bank P as a Research Analyst. D is not an Agriculture Officer
TE EEdt A B.C, D, E, F 3T G& us wag #f & forr wdursn, gy sfasrd 1T wfawd, effiae sl
Fas, fagel e wiuwd 3T FgEuE fTsus F Fu F FF & &1 L MNP, Q, R 3T S, wiftfa anawms
FETsH mA A & CHF NF Tow &@ =3 & 3T J a1 oy g ¢t 3 3 & =% ¥ Eve g
ym i dfF RE T s wa & AT g aRm T S s sm et i dF L QF
o 1 T8 ®a | S UF g AUEd § g F ME T w3 o1 ¥ S % LE B e e &
ae U SA-w HWE & 0 A FH Har &) Fdw QF e A war 2 6 ¥ P& w e vafae

& ¥0 # F& T 81 D T Afuwd a8 &
Terminal Operator

Q) chifa sifdex
Agriculture Officer
O CaLEEIEEari)
Economist
O sefursht
Cannot be determined
O freffem = fom o1 s
Economist

Answer of above question: et

Q80. For which Bank does B work?
B frg &% & o0 9 F3ar #2



A group of seven friends A, B, C, D, E, F and G, work as Economist, Agriculture Officer, IT Officer, Terminal Operator, Clerk, Forex Officer and Research Analyst, for Banks. L, M, N, P, Q, R and S, but not necessarily
in the same order. C works for Bank N and is neither a Research Analyst nor a Clerk. E is an IT Officer and works for Bank R. A works as Forex Officer and does not work for Bank L or Q. The one who is an
Agriculture Officer works for Bank M. The one who works for Bank L works as a Terminal Operator. F works for Bank Q. G works for Bank P as a Research Analyst. D is not an Agriculture Officer.

TS A, B, €, D, E, F SR ¢ 1 0% g 851 F o srfersdt, & oo, 17 ofierdt, ofifa sffmer, 30,
el gt et At sgyH fes s Sudsm s 21 L, M. N, P Q, R 3R s, dfeT smews T6) ol %1
FHE ¢ 5 N o 70 & Sear & ST A 91 2y fGwve § SN T 8 50 o1 E Ue And dien § dR¥F RS
fusmew s AR gm sfiefis Tod sm o 2 iR de LT Q% Rusm T s 1 S o FiY
IS & a8 8% M & 0 S8 S o1 O 8% L F 710 =19 a1 & 98 U eiia Alie $ 0 § 19 S &l
FEm QP uesmsd sl G So P & fin fvad taiftne & =9 @ owa s D B siysr 78 81

OMm

O s

Ot
Either M or S

O A G MAT S

Answer of above question: M

Q81. What is the profession of the person who works for Bank S?
5 S & U &F ol arel oafs @ d9 4 §7
A group of seven friends A, B, C, D, E, F and G, work as Economist, Agriculture Officer, IT Officer, Terminal Operator, Clerk, Forex Officer and Research Analyst, for Banks. L, M, N, P, Q, R and S, but not necessarily
in the same order. C works for Bank N and is neither a Research Analyst nor a Clerk. E is an IT Officer and works for Bank R. A works as Forex Officer and does not work for Bank L or Q. The one who is an
Agriculture Officer works for Bank M. The one who works for Bank L works as a Terminal Operator. F works for Bank Q. G works for Bank P as a Research Analyst. D is not an Agriculture Officer.

A &R A, B, C. D, E. F 3R G &1 1% T Soi o fou srfemeedl, $iF il 1T sifierdt, effae sifmvey, 7o,
Tt ot iR AR srEyH Aivs S FUEFW S EIL, M, N, P, Q, R 3R 8, 9fE smaxas T8 55t 74
HEN C§5 NF RU ™ a3 2 ok 7 91 vy fiwevs 8 SR8 70 81 E 0o amsdl dfiei & SR dF RS
o Fm Fear o) A B ga ofie & w0 & o & AR EF L a1 Q & R Fm A8 dea 81 9 0
S £ 97 3% M S U 10 Fa1 51 5 8% LT i 1 $301 & 98 U i il =9 § B8 S B
FEraFusmaazc sz p & i fod viftre & =0 § &8 S3a1 21 D F Afsi T8 21

Clerk
O s
Agriculture Officer
O i HTEHET
Terminal Operator
O HECCiE e
Forex Officer
O fergefr agar srfasrdr

Forex Officer
Answer of above question: fagaft s Hfawr

Q82. Which of the following combinations of person, profession and the bank is correct?
TFafefaa # ¥ wafw, den AR &% &7 BiF @ da9raa Jw

A — Forex Officer - M

O ATl agar i - M
D-Clerk-L

O p-=F -L
F — Agriculture Officer - Q

O F-zf s -a
None of these

O w5 @ = a8

None of these
Answer of above question: z=# & FE T

Q83. Mohan meets Leela in the party who introduces herself as the daughter of his grandfather's daughter’s brother. How is the Mohan related to the Leela?
e urel # ot & firean 291 o0 2161 1 361 & TS &1 31 & T § A7 ufeTd I B | A dar § 49 g8l 82
brother-in-law
O ==
uncle
O =
brother

QO

sister
O =

brother
Answer of above question: Hig

Q84. Mr Praveen went in his car to meet his friend Asif. He Drove 30 kms towards north and then 40 kms towards west. He then turned to south and covered 8 kms. Further he turned to east and moved 26 kms.
Finally he turned right and drove 10 kms and then turned left to travel 19 kms. How far and in which direction is he from the starting point?

sft T S g nfae @ firee & o et R F o) 9 20 Tedt Se BT 8w SiR fRT 40 fed ofim =t s e
5% 98 Sf&m #1 3R 92 i 8 &5 it ol gas, 95 1@ &1 ok S IR 26 fodl 90 sig Hag e g8 v 10
it oa iR e o1t ooy 19 feddt =t | o5 wiifis g 3 oot  ein e fgm # &2

East of starting point, 5 kms
(O wifem fig & 9d .5l
East of starting point, 13 kms
() v fag & of # 13 Rl
North East of starting point, 13 kms
() wifes fag & 5ot d & 13 fmaf
North East of starting point, 5 kms
() vRfEs fig & s qf # 5 el

North East of starting point, 13 kms
Answer of above question: wrff® fig & sa¢ qd & 13 AT

Q85. Direction : Read each of the following statements carefully and answer the questions.
Which of the following symbols should replace the question mark in the given expression in order to make the expressions 'K < H" and ‘M > J’ definitely true?
H21=J?Ks<L<M
fordn Fofafaa syt & 3 vde &1 aFgds 1 AR wl & g )
W'K;r%;ﬁ? M > J B 5T E0 ¥ ¥@ 59 & fou FEfaEd § 9 o6 @ 9% & T e v fE 1 ety
EXSll ?

HzI=J?KSsL<M

O >



O :
Either < or <

O adians

O:

Answer of above question: =

Q86. Direction: In each question below is given a statement followed by two assumptions number | and Il. An assumption is something supposed or taken for granted. You have to consider the statement and the
following assumption and decide which of the assumptions is implicit in the statement.

Statement: The Government has decided against reduction of prices of Agriculture products though there is a signification drop in the Agro crop prices in the international market.

Assumption: |. The prices of Agro crop in the international market may again increase in the near future.
IIl. The present prices difference of Agriculture products will help the government to with stand any possible price rise in future.

Frgs: 9 vde v | 1e By v § s w1g € A | 9 1 @ S ) U uRon o A @ o T 2
AT 2 SR FEfafed gy R R s 2 R ol e € & o0 §t gurm sy # fia )

YT WHR A FU IdC! 51 o § HH1 & (& e fHa e,
BITiTes SfAwpig aToR # B wad &1 SHdl § &8 1 5

YRV |. AP IR § F0 moa o1 wmd Hee viis § 5 § 75 93t &)
1. BT Tee! =1 adaE Sl H ot TeeR 5 yiaw # fet oft gy 5o ofE =1 9w e | geg m o

if only assumption I is implicit.

O =f Faa aron 1 Afta 21

if only assumption Il is implicit.

(O o e arom i fifga &1

if either assumption | or Il is implicit.

(O zRwd urm i fifea &

if neither assumption | nor Il is implicit.

O g A AR ST E IRk

if neither assumption I nor Il is implicit.
Answer of above question: g 7@ ymum | ST & 1 AT 2

Q87. At what time between 8 and 9 o’clock will the hands of a clock be at right angle?
8¥ 9Fa & 9 ul & A FE HHT HASOT W BT

3
O 8165
3
O 8277
3
O sar;
None of these options

() ==t & ¢ it Fawew =8

. 3
Answer of above question: 8: 277

Q88. Direction: The question consist of a set of numbered statements. Assume that each one of these statements is individually true. Each of the four choices consists of a subset of these statements. Choose the
subset as your answer where the statements there in are logically consistent among themselves:
Tanisha will eat the apple if Jeetesh does not cook. Based on the information above which of the following must be true
& oy & dewifeg FuAt & TF e L) A o 5 oA% @ Uchd® FUS oAheed w9 & §ed | 9K
famedl & & ucd® # &7 gUET @ UF FEdC 07 & 39 SUEH=OT & O 30¢ & ®T H gH A6l SEA
fow I HYF AUE H afhe w9 § gEId o

I SAY A Tren dl gt d9 @ ool 30 JEeNT $ YN W @ § & #lF @ acg war
arfem

Tanisha will not eat the apple if Jeetesh cooks.

(O =R Saw @@ gaE & A A d A w
If Tanisha did not eat the apple, then Jeetesh did cook.

O i 3 ¥ 72t @, @ < 3 @E= =
If Tanisha ate the apple, then Jeetesh did not cook.

O w3 s wnft &1, shaw 3 @ 78t s

If Jeetesh does not cook, Tanisha will eat the apple

O Iz SiErer == J8 aqma &, J adur g gt

If Tanisha did not eat the apple, then Jeetesh did cook.
Answer of above question:  g=frar % S5 78T @R, o W= T @ET ST

Q89. Directions : In the following question you are given four series of questions with a question mark you have to find out the answer for the question mark that completes the series from the answer figures.

e T afTa uy # WS uHeES Mg & 91y usl T 9N 4Gt & o | MUK 36 UMSEE 9 6
3 AT AT & S 3AT WETAEl § swer ®F Q@ Sl o

1
2
3
4

OO000O

Answer of above question: 1



Q90. Direction : Select the answer figure from options in which the question figure is hidden.
Question figure

1
2
3
4

OO00O

Answer of above question: 4

Q91. DIRECTIONS : the questions below consists of a question and two statements numbered (1) and (Il) given below it. You have to decide whether the data provided in the statements are sufficient to answer the
question. Read both the statements and give answer
Who is paternal uncle of P ?
(I) P is brother of L, who is daughter of Q, who is sister of N, who is brother of S.
I e oo wst # e oy 3T 3Ee A9 @ $r wais () AT () BT oTm ¥ SnUa 9E 89 ol € TR
FHUAT F EAT AT TS UH F I o & ford UATE § A1 A48T AT HUAT & i 3T 3 S

(1) M is brother of K, who is husband of L, who is mother of G, who is sister of p.P @1 =T Fha 2
(WP LT 85 & 5 QT gar & &t N& gea & 5 S &5 3

IMMKFsE AT Leolae AR AT PR aea &
Statement (I) ALONE is sufficient, but statement (ll) alone is not sufficient.

HUA (1) 35 UATH &, SR wUA (1) e uAtE FE &)
Q) Wl B Sl Tt §

Statement (Il) ALONE is sufficient, but statement (1) alone is not sufficient
(O ®ua (1) 3o gaiE ¥ A U () 3ben wHE S8

BOTH statements TOGETHER are sufficient, but NEITHER statement alone is sufficient.
O T BUA UF @Y uHE  Afa 6% 8 wuF e uAtg a4 &

EACH statement ALONE is sufficient
() veas wua wFen ooim &

Statement (II) ALONE is sufficient, but statement (I) alone is not sufficient
Answer of above question: ®ua (1) 37FeT T4Td &, witha &4 (1) 3ehel 9910 A9 ©

Q92. DIRECTIONS: Count the number of cubes in the following figures:
Fid: Focffa sl | o= &1 e

None of these options

Oz 3w fawen a8

032
042
038

None of these options
Answer of above question: g3 & ®E fawey F&

Q93. Arrange these words in alphabetical order and tick the one that comes last
1. Abandon 2. Actuate 3. Accumulate 4. Acquit 5. Achieve
S WEgl ® aUiigd # cgafEad o AR S 7aw A A e € 38 w A s
1.Abandon 2. Actuate 3. Accumulate 4. Acquit 5. Achieve

O Actuate
O Acquit

O Accumulate

O Achieve

Answer of above question: Actuate

Q94. Avi and Binu start moving towards each other from two places 200 km apart. After walking 60 km, Binu turns left and goes 20 km, then he turns right and goes 40 km. He then turns right again and comes back
to the road on which he had started walking. If Avi and Binu walk with the same speed, what is the distance between them now?



AT g . S = ¥ TE g PR 200 O ® ¥ TOW E PN £ 60 FEH weH W
F T FW FEa & AR 20 fEH W & Y 98 @@ gsar & &R 40 fEd @ 2
fir g gear & R 99 TSP W IOE o & W W SEd T IE B an
3 o g M 7t & 9o €, 1 o S99 o9 =t gl freet 22

40 km
Answer of above question: 4p &5 #r

Q95. Select from the four alternative diagrams, the one that best illustrates the relationship among the three classes:
Pigeons, birds, dogs.

o ot & & T 31 Hed orss § fom ardt e =, Feefifa o deftre aii B g
FEE, USH, T
0 (0O)O

Q96. In the questions two statements given: Assertion (A) and Reason (R). You have to go through these statements and check whether the statement given as (A) and statement given as (R) are as stated in the
following manner and you have to answer either (1). (2), (3) or (4).
Assertion (A): The thickness of the atmosphere is maximum over the equator.

Reason(R): High insulation and strong convection currents occur over the equator.

ug & g1 wua few o ¥ sfEwya (A) 3T SROT (R)3MUST 59 HUAT F ggar & Fwar § B o= () F
w7 # fgr 7w §39 R (R)F w0 F By v su= HeateiE ois § gaw av € s wmost 3 g ()@
3 AT ©(2), (3) T (4).

STHETA (A) | 5FYT 1@ W ggFAsa & Aes Hi9was ool ol
FAO (R): O9ad 90 F I 3T9 94 JU7 vad Hded 9HW oEr &

Both (A) and (R) are individually true and (R) is the correct explanation of (A).
O gt (A) I (R) SfEaTd SO T T § 1 (R) (A) 1 T8 SO 21

Both (A) and (R) are individually true, but (R) is not the correct explanation of (A)
O 21 (A) I (R) S5 =0 & 9 &, @ (R) (A) 3T T8 e el &

(A) is true but (R) is false.
O Wt R TR

(A) is false but (R) is true.
O g1 afE R w8l

Both (A) and (R) are individually true, but (R) is not the correct explanation of (A)
Answer of above question: g (A) 3R (R) TfeTd &9 § 9@ &, A (R) (A) B Tal TR 781 &

Q97. You are living in a college hostel. The dal served to you in the mess has a lot of stones. What would you do?
0 T HIde & SHENE H 38 | o] 59 H 1051 9 gra 1! ol & SUH 9gd 91 555 5 &1 A9 1 H41?
To each of the following questions, four probable answers have been given. Select the most appropriate alternative as the answer.
AFEATEREE UedE Uy & IR 6@Ha0 30 BE ow §) 3R & w0 A |5dii9s 3Ugh [AFed B 9d- S|
leave eating the dal altogether.
O g1 WAl AeEe oIE
bring the matter to the notice of mess incharge.
O FAH FH FAG SO & HAEH H oG
speak to the cook about changing the dal.
() it @ gw s & a) F am =Y
buy your own dal and cook it in your room.

O 39T gg i grer wiie 3 5 3o Fel & e

bring the matter to the notice of mess incharge.
Answer of above question: #T#Fer & #F ZdTel & HAH # o |

Q98. Find the missing no in the following question:
AFTEEE 98 # 98§51 Jd Hifn

Q 198
O 158
Q 142
O 127

Answer of above question: 142

Q99. Hooke is related to cells in the same way mulder is related to
& SRt & 5@ uer e § S e @ Feafua ¥



carbohydrates

) wmferse
Minerals

O =f=
vitamins

O =
proteins

O wa=m

proteins
Answer of above question: g

Q100. If ZEBRA can be written as 2652181, how can COBRA be written ?
=fg ZEBRA T 2652181 Tor@ & T&al &, ol COBRA T & Toram = Fohal &7

O 302181

None of these options
O A G 7S off e TE
() 31822151
(O 1182153

None of these options

Answer of above question: =8 & &1 ft e 987

Q101. Which one of the following pairs is incorrectly matched?
foaforiactaf 3 feper e arerar faven=t gam e
Samaharta—the highest officer in charge of assessment of revenue
() aeed-aa & uiRer & verd ade sfewd
Adhyakshas—superintendents mostly to regulate the economic activities of the state
() smmar-srefiaten SR W 1 3Tde afafafa = ffeafaa & & o
Sannidhata—the in charge of the foreigners and strangers
() afesare - ReRi 3 sreriaa & wand
Senapati—commander-in-chief

() - v Fars

Sannidhata—the in charge of the foreigners and strangers

Answer of above question: gfZsrtrar - fagfrat 3 se=feat & usrdr

Q102. The subordinate officers of the Patel were
U&et i AUy ARSI I
Deshpande, Deshmukh
O o, zuea
Kulkarni, Chaugule
(O Do, s
Sardesai, Deshpande
O wrewms, iz
Sardesai, Deshmukh
O wwews, g

Kulkarni, Chaugule

Answer of above question: Teeull, Sager

Q103. Which one of the following statements is not correct?
rAfTad 1 Pl T Te w67
There is no definition of the Scheduled Tribes in the constitution of India
) s o T % TR e A S e
North-East India accounts for a little over half of the country’s tribal population
() suqd #RA # &0 S ST G B HY F AT A et &
The people known as Todas live in the Nilgiri area
() ot 1 A STy ST arer e AN A A T S
Lotha is a language spoken in Nagaland

T ATIMTeS # el A1t el HIET &

O

North-East India accounts for a little over half of the country’s tribal population

Answer of above question: ZER-qd HR 3 &21 I SIS HIETET T 31T I e 30s fewar

Q104. Match List-l with List-1l and select the correct answer using the code given below the lists.

List-1 (Mangroves) List-1l (State)
(a) Achra Ratnagiri 1. Karnataka
(b) Coondapur 2. Kerala
(c) Pichavaram 3. Andhra Pradesh
(d) Vembanad 4. Maharashtra

5. Tamil Nadu

T B G-I € gafg S o gt F F fTu T e & s w1 98 S 9|

- (He) - 11 (X7T)

(a) = TR 1. BESH

(b) FBIT 2 &

(c) forgaem 3. iy gem

(d) SIS 4 HERE

5. afaeTg

O @-2 ©)-5 (d)-4
O @4 (b) 5 (c) 3 (d)-2
O @-2 (-3 (d)-4
O @-4 () (-5 (d)-2

Answer of above question: (a)-4 (b)-1 (c)- 5 (d)-2

Q105. The main determinant of real wage is
A Tae HTG 4 ol A ke &
extra earning

O sfem s



nature of work
OELE
promotion prospect
() wefa Srwsmaar
purchasing power of money

O wFmaafs

purchasing power of money
Answer of above question: tyehr & 2rfth

Q106. The Commission of Agricultural Costs and Prices fixes the
ity FTe 3R A T A AT S
Support price
O uadmaea
Wholesale price
O daaea
Retail price

O G

None of these

O samEad

Support price
Answer of above question: THIH Hed

Q107. Which of the following have coral reefs?
1. Andaman and Nicobar Islands
2. Gulf of Kachchh
3. Gulf of Mannar
4. Sunderban
Select the correct answer using the code given below.

AT # I fepeeT yarel T &2

1. 35T 3N e €0 Wofe

2. e &l WSl

3. FHeA 1 WST

4. Hela=

Ry few e s 1 e o el S AT

1,2 and 3
1,233
2and 4
23:Ra
1and 3
133
1,2,3and 4
(O 12334

O O O

1,2and 3
Answer of above question: 1,23{¥3

Q108. Which of the following statements are correct regarding CITES?
1) CITES — The Convention on International Trade in Endangered Species of Wild Fauna and Flora.
2) It entered into force in 1985.
3) Currently, 176 countries are Parties to CITES.
Select the correct option from the codes given below:

AT 3 ¥ Bl I Y= CITES & AU H Tere?
1i CITES - e Sirat 3R gaafaat S oo Unfot 3 JoRTER saruR W oo |

2) T 1985 H AAELE3I
3) TIAT 8, 176 827 CITES 2 U&THILE |
I TET 910 s & el ol ol 98 B
Only 1
O &heel 1
Only2 &3
() wamasiis
Only 1&3
() waei13is
Only 3

O?h—q?vra

Only 1&3
Answer of above question: &ae 13X 3

Q109. In the cities of our country, which among the following atmospheric gases are normally considered in calculating the value of Air Quality Index?
1. Carbon dioxide
2. Carbon monoxide
3. Nitrogen dioxide
4. Sulphur dioxide
5. Methane
Select the correct answer using the code given below.

I &2T 2 A1 31, AT I[OTdT e & a3 &l 07T 31 HATA ®U & ool argeiseira Il A1  ovy i e fer s e
1. I SIS HEFAES

2. TG AITESS

3. AT STE3HIRATES

4, TR SIS TRISS

5. A=

==y few arw e 1 U Y WE 3a i)




Only 1,2 and 3
O waer1,23k3
Only 1,4 and 5
O thael 1, 4 R 5
1,2,3,4and 5
(O 123,435
Only 2,3 and 4
() w233k

Only 2, 3 and 4
Answer of above question: e 2,33Ra

Q110. The book ‘India’s Struggle for Independence’ was authored by
STt FEITel B STEUET G her@h &
Tarachand
O awre
S.N. Sen
O wwa.w=
R.C. Majumdar

O s apER
Bipan Chandra

O e

Bipan Chandra
Answer of above question: fafa==zT

Q111. Fermentation is a type of process .
fepues e U At ufchan

Aerobic Respiration

O wfawar=
Anaerobic Respiration

O s
Exothermic Reaction

(O semrdrufatna

Transpiration
O ==

Anaerobic Respiration
Answer of above question: 3ETgAT

Q112. BCG is vaccine meant for protection against which of the following diseases?
e Rrafa i & forg dor & a=ma & fore S e
Mumps
() @vesTar N AT
Tuberculosis

O =

Leprosy
O z=m

Tetanus
O
Tuberculosis
Answer of above question: IJ&#T

Q113. When light waves pass from air to glass the variable affected are
TS W a4 59T § B9 B Tadl & of FHIEd B 22

Wavelength, frequency and velocity

Q) e, s st
Velocity and frequency

() it
Wavelength and frequency

() gt iR amfr
Wavelength and velocity

O e R

Wavelength and velocity
Answer of above question: aar & 3T &ar

Q114. Assertion (A): In India, electricity distribution companies calculate the consumption of electricity in kWh.
Reason (R): Electrical system in India works at a frequency of 60 Hz.

0T (T): R #, TaeTell FIaRoT Shuf=m kwh 3 TarsTell H @ua & T1o7=T s &1

TOT (H): 7R 3 TR TTelt 60 G &1 JTRT 0T a1t lcil o |

Both (A) and (R) are true and (R) is the correct explanation of (A)
(O (@33R S T E AR () (T) 1 FT A &

Both (A) and (R) are true, but (R) is not the correct explanation of (A)
() (@ 3R (R = T, et (3 () Hr w AT T

(A) is true, but (R) is false
O muat, = (3m) Terd &

(A) is false, but (R) is true
(O (maea &, dfa (3) §9%

(A) is true, but (R) is false
Answer of above question: (T) @, #fthd (IRX) 7Ied ©

Q115. Smt Budhiarin Devi, a national award winner from Chhattisgarh. Which arts does she belong to? :
A G &, S eaTe T T GREehiY Tl | % Tehel chell & Tared &7
Gadhwa art
(O wearamen
Dhokra art
O SR hell



bamboo art
() ammen
mud clay art

O feeardima

Dhokra art
Answer of above question: e

Q116. Deep Space Atomic Clock, which was seen in the news recently, is associated with which space agency?
EICTEN 3 Wl 31 TEI &0 T UelifHen deiieh Tohd 37T aT TortT & 5T 2
ISRO

O s

NASA

O amr
Virgin Galactic
O aR=efen
SpaceX
O wrawas

NASA
Answer of above question: #rar

Q117. Among the names of the Russian parliament were:
A HE S &
Shora
O ax
The State Duma
O v
National confrance
O i wwem
Verkhovna Rada
O wed=TE

The State Duma
Answer of above question: I=a SZ#AT

Q118. In FIFA World Cup 2022 which African country 1st time qualify for the semifinal?
IR ferPr o 2022 3 foreT STRTRT &R1 <1 UBell X SISl o TolT daTellhls hal?

South africa

O afaror snfrer
Morocco

Ok
Croatia

Q) @t
Argentina

O aetém

Morocco
Answer of above question: #Harr

Q119. Consider the following statements:
1. A river erosion removes the regolith.
2. Arriver erodes by the process of downward cutting.
3. In the hilly and mountainous regions, there is no head-ward erosion.
4. Loose rock debris is washed down-slope into drainage system.
Which of the above statement is/are correct?

g e W feaR &

1. TGT T HeTd LRI T2l &l B

2. FET W TeTd B ORI GRT HIRGH Tl

3. UETET U Udciy &73 31 i 1 3R Fera 7161 x|

4. €101 Tk FHeT Y STeT FeTell ToTel 3 elle o =1 9= S 6l

SR 1 ¥ Sl /T HAA Tol o/ 67
1,2 and 3 only

() waery,23R3
2,3 and 4 only
thaol 2, 33K 4

O

1,2 and 4 only
O el 1, 2 34
1,2,3and 4

O 1,2, 334

1, 2 and 4 only
Answer of above question: eer1, 2 3T4

Q120. Which of the following is Europe’s longest river?
FoeTTaIRIe o & Py U e oiel 78y &2
Danube
O =@

Dnieper

O dw

Volga
() dem
Rhine

O wsa

Volga
Answer of above question: gream

Q121. Which one of the following is used for manufacturing safety matches?



e #t & fenaenr ST Trem e & faaTor & fore femar s 2
Di-phosphorus
O Ewenka
Black phosphorus
O ren wEwTE
Red phosphorus
() o FrEwRE
Scarlet phosphorus

() e wrewR

Red phosphorus
Answer of above question: el FEHRHT

Q122. "Consider the following statements.
1. Light of longer wavelength is scattered much more than the light of shorter wavelength.
2. The speed of visible light in water is 0.95 times the speed in vacuum.
3. Radio waves are produced by rapidly oscillating electrical currents.
4. To detect the overspeeding vehicles, police use the Doppler effect of reflected short radio waves.
Which of these statements are correct?"

rfafEa HuE T AR

1. 3T AT ST U121 St TRITGE & U211 JotetT 31 ag 31T TehiToTd erc o |

2. OIS 3 T weer 1 71T Fate & aifa i 0.95 I ST e

3. o G el e aTell Tacl RT3 GRT YT @i &l 3euig Tedl <Tidll &

4. T TFAR TG o1 Ol o19TTed & Fore gford tafaid org YT aelt & Siuer U8 ot SUieT atdl o

ST YRl T B T S?
1Tand?2

O 13k2

1and 3

O 133

2and 4

() 23R

3and 4
O 334

3and 4
Answer of above question: 334

Q123. Which dance is performed only by male?
Tl T 2 el T80 ST 57

Mohini Attam

O EilaE =
Odissi

() i
Kathakali

(O wumeh
Manipuri

O =gl

Kathakali
Answer of above question: @erell

Q124. Why companies go for business process re-engineering with the help of technology?
Ul cebeATeh 2l #eg W TelsTeiet R {I-Soff=rafiar &t et &7
Customers demand and expectations
O TR I AT HR AT
IT being leveraged to provide competitive edge in products and services at lower costs
() @ amrd W s 3R yars i ufcreadf aed ver a3 ferw ST et SO S Tt
The pace of change has accelerated with the liberalisation of economies world over
() e e 3RCHaIB & SIS TR URad= S i AT g5 &
All of these
O s wer

All of these
Answer of above question: FuRTH T

Q125. Bakelite is formed by the condensation of
deraTse e o= Gl &

Urea and formaldehyde

O farskwiatess
Phenol and formaldehyde

O firirr 3ik widferferss
Phenol and acetaldehyde

O sk vt fesems

Melamine and formaldehyde
O FeTATS= IR PicseEs

Phenol and formaldehyde

Answer of above question: ftr=Ter 3T wiFmIRRES

Q126. What was the quantum of Domestic Wholesales last year for Tata Motors?

Tata Motors Ltd. said second quarter consolidated net loss narrowed to ¥898.35 crore on account of volume and margin expansion at the Jaguar Land Rover unit, as well as domestic business units. The
company had recorded a loss of 34,415.54 crore a year earlier.

Total revenue from operations for the quarter ended September 30 increased 29.7% to 379,611 crore. 11JLR revenue grew 36% to £5.3 billion, reflecting ‘strong model mix and pricing’ with wholesale volumes
(excluding China JV) of 75,307 up 17.6%, the company said in a statement.

"The wholesale increase was lower than planned, primarily due to a lower-than-expected supply of specialised chips from one supplier which could not be readily re-sourced in the quarter,” P.B. Balaji, chief
financial officer, Tata Motors Group, said while flagging this as one of the disappointments during the quarter.

"However, we do expect to see improved performance at JLR, the Commercial Vehicle (CV) and Passenger Vehicle (PV) units during the third and the fourth quarters,” he said.

The CV business registered 15% growth in sales. In India, domestic wholesales climbed 19% to 93,651 vehicles. However, exports were lower by 22% affected by the financial crisis in a few export markets.
Domestic retails grew at a higher rate.



“The margin improvement was aided by higher volumes, realisations, although impacted by residual commodity inflation and foreign exchange,” Mr Balaji said.

The PV business continued its ‘strong’ momentum with wholesales growing 69% to 142,755 vehicles, amid strong festival demand and 'debottlenecking actions'.

However, margin recovery was impacted due to residual commodity inflation and adverse foreign exchange, Mr. Balaji added.

“Demand continues to remain strong; however it will remain a key monitorable in the wake of global uncertainties. Improving chip supply and cooling commodity prices will aid revenue and margins recovery
and we hence aim to deliver strong improvements in EBIT and free cash flows in H2 FY23,” he said.

93651 vehicles

93631 dT61

78698 vehicles

78698 dIig+

Cannot be ascertained
AT TE T o e B
81436 vehicles

(O s1438 a1

O O O

78698 vehicles
Answer of above question: 78698 @Tg

Q127. As per the CFO the margin improvement was due to .........

Tata Motors Ltd. said second quarter consolidated net loss narrowed to ¥898.35 crore on account of volume and margin expansion at the Jaguar Land Rover unit, as well as domestic business units. The
company had recorded a loss of 34,415.54 crore a year earlier.

Total revenue from operations for the quarter ended September 30 increased 29.7% to 379,611 crore. 11JLR revenue grew 36% to £5.3 billion, reflecting ‘strong model mix and pricing’ with wholesale volumes
(excluding China JV) of 75,307 up 17.6%, the company said in a statement.

"The wholesale increase was lower than planned, primarily due to a lower-than-expected supply of specialised chips from one supplier which could not be readily re-sourced in the quarter,” P.B. Balaji, chief
financial officer, Tata Motors Group, said while flagging this as one of the disappointments during the quarter.

"However, we do expect to see improved performance at JLR, the Commercial Vehicle (CV) and Passenger Vehicle (PV) units during the third and the fourth quarters,” he said.

The CV business registered 15% growth in sales. In India, domestic wholesales climbed 19% to 93,651 vehicles. However, exports were lower by 22% affected by the financial crisis in a few export markets.
Domestic retails grew at a higher rate.

“The margin improvement was aided by higher volumes, realisations, although impacted by residual commodity inflation and foreign exchange,” Mr Balaji said.

The PV business continued its ‘strong’ momentum with wholesales growing 69% to 142,755 vehicles, amid strong festival demand and 'debottlenecking actions'.

However, margin recovery was impacted due to residual commodity inflation and adverse foreign exchange, Mr. Balaji added.

“Demand continues to remain strong; however it will remain a key monitorable in the wake of global uncertainties. Improving chip supply and cooling commodity prices will aid revenue and margins recovery
and we hence aim to deliver strong improvements in EBIT and free cash flows in H2 FY23,” he said.

Increase in sales quantum
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Q128. What percentage of the last year quarterly revenue from operations of Tata Motors was the operations of JLR then ? [Assume £1 = Rs 80]

Tata Motors Ltd. said second quarter consolidated net loss narrowed to ¥898.35 crore on account of volume and margin expansion at the Jaguar Land Rover unit, as well as domestic business units. The
company had recorded a loss of ¥4,415.54 crore a year earlier.

Total revenue from operations for the quarter ended September 30 increased 29.7% to 379,611 crore. 11JLR revenue grew 36% to £5.3 billion, reflecting ‘strong model mix and pricing’ with wholesale volumes
(excluding China JV) of 75,307 up 17.6%, the company said in a statement.

"The wholesale increase was lower than planned, primarily due to a lower-than-expected supply of specialised chips from one supplier which could not be readily re-sourced in the quarter,” P.B. Balaji, chief
financial officer, Tata Motors Group, said while flagging this as one of the disappointments during the quarter.

"However, we do expect to see improved performance at JLR, the Commercial Vehicle (CV) and Passenger Vehicle (PV) units during the third and the fourth quarters,” he said.

The CV business registered 15% growth in sales. In India, domestic wholesales climbed 19% to 93,651 vehicles. However, exports were lower by 22% affected by the financial crisis in a few export markets.
Domestic retails grew at a higher rate.

“The margin improvement was aided by higher volumes, realisations, although impacted by residual commodity inflation and foreign exchange,” Mr Balaji said.

The PV business continued its ‘strong’ momentum with wholesales growing 69% to 142,755 vehicles, amid strong festival demand and 'debottlenecking actions'.

However, margin recovery was impacted due to residual commodity inflation and adverse foreign exchange, Mr. Balaji added.

"Demand continues to remain strong; however it will remain a key monitorable in the wake of global uncertainties. Improving chip supply and cooling commodity prices will aid revenue and margins recovery
and we hence aim to deliver strong improvements in EBIT and free cash flows in H2 FY23,” he said.
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Approx. 50%
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Q129. The importance of JLR for Tata Motors has increased from last year.

Tata Motors Ltd. said second quarter consolidated net loss narrowed to ¥898.35 crore on account of volume and margin expansion at the Jaguar Land Rover unit, as well as domestic business units. The
company had recorded a loss of 34,415.54 crore a year earlier.

Total revenue from operations for the quarter ended September 30 increased 29.7% to 379,611 crore. 11JLR revenue grew 36% to £5.3 billion, reflecting ‘strong model mix and pricing’ with wholesale volumes
(excluding China JV) of 75,307 up 17.6%, the company said in a statement.

"The wholesale increase was lower than planned, primarily due to a lower-than-expected supply of specialised chips from one supplier which could not be readily re-sourced in the quarter,” P.B. Balaji, chief
financial officer, Tata Motors Group, said while flagging this as one of the disappointments during the quarter.

"However, we do expect to see improved performance at JLR, the Commercial Vehicle (CV) and Passenger Vehicle (PV) units during the third and the fourth quarters,” he said.

The CV business registered 15% growth in sales. In India, domestic wholesales climbed 19% to 93,651 vehicles. However, exports were lower by 22% affected by the financial crisis in a few export markets.
Domestic retails grew at a higher rate.

“The margin improvement was aided by higher volumes, realisations, although impacted by residual commodity inflation and foreign exchange,” Mr Balaji said.

The PV business continued its ‘strong’ momentum with wholesales growing 69% to 142,755 vehicles, amid strong festival demand and 'debottlenecking actions'.

However, margin recovery was impacted due to residual commodity inflation and adverse foreign exchange, Mr. Balaji added.

“Demand continues to remain strong; however it will remain a key monitorable in the wake of global uncertainties. Improving chip supply and cooling commodity prices will aid revenue and margins recovery
and we hence aim to deliver strong improvements in EBIT and free cash flows in H2 FY23,” he said.

The above statement is false
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Q130. A better performance is predicted in H2 by the CFO. What are the key reasons for the same ? Choose the most correct option from those given below

Tata Motors Ltd. said second quarter consolidated net loss narrowed to ¥898.35 crore on account of volume and margin expansion at the Jaguar Land Rover unit, as well as domestic business units. The
company had recorded a loss of ¥4,415.54 crore a year earlier.

Total revenue from operations for the quarter ended September 30 increased 29.7% to 379,611 crore. 11JLR revenue grew 36% to £5.3 billion, reflecting ‘strong model mix and pricing” with wholesale volumes
(excluding China JV) of 75,307 up 17.6%, the company said in a statement.

"The wholesale increase was lower than planned, primarily due to a lower-than-expected supply of specialised chips from one supplier which could not be readily re-sourced in the quarter,” P.B. Balaji, chief
financial officer, Tata Motors Group, said while flagging this as one of the disappointments during the quarter.

"However, we do expect to see improved performance at JLR, the Commercial Vehicle (CV) and Passenger Vehicle (PV) units during the third and the fourth quarters,” he said.

The CV business registered 15% growth in sales. In India, domestic wholesales climbed 19% to 93,651 vehicles. However, exports were lower by 22% affected by the financial crisis in a few export markets.
Domestic retails grew at a higher rate.

“The margin improvement was aided by higher volumes, realisations, although impacted by residual commodity inflation and foreign exchange,” Mr Balaji said.

The PV business continued its ‘strong’ momentum with wholesales growing 69% to 142,755 vehicles, amid strong festival demand and 'debottlenecking actions'.

However, margin recovery was impacted due to residual commodity inflation and adverse foreign exchange, Mr. Balaji added.

“Demand continues to remain strong; however it will remain a key monitorable in the wake of global uncertainties. Improving chip supply and cooling commodity prices will aid revenue and margins recovery
and we hence aim to deliver strong improvements in EBIT and free cash flows in H2 FY23,” he said.
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Q131. The whole sale increase was lower because .......
Choose the most accurate reasoning from those given below.
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Tata Motors Q2 loss narrows to 3898 crore. Tata Motors Ltd. said second quarter consolidated net loss narrowed to ¥898.35 crore on account of volume and margin expansion at the Jaguar Land Rover unit, as
well as domestic business units. The company had recorded a loss of 34,415.54 crore a year earlier.

Total revenue from operations for the quarter ended September 30 increased 29.7% to 379,611 crore. 11JLR revenue grew 36% to £5.3 billion, reflecting ‘strong model mix and pricing’ with wholesale volumes
(excluding China JV) of 75,307 up 17.6%, the company said in a statement.

"The wholesale increase was lower than planned, primarily due to a lower-than-expected supply of specialised chips from one supplier which could not be readily re-sourced in the quarter,” P.B. Balaji, chief
financial officer, Tata Motors Group, said while flagging this as one of the disappointments during the quarter.
"However, we do expect to see improved performance at JLR, the Commercial Vehicle (CV) and Passenger Vehicle (PV) units during the third and the fourth quarters,” he said.

The CV business registered 15% growth in sales. In India, domestic wholesales climbed 19% to 93,651 vehicles. However, exports were lower by 22% affected by the financial crisis in a few export markets.
Domestic retails grew at a higher rate.

“The margin improvement was aided by higher volumes, realisations, although impacted by residual commodity inflation and foreign exchange,” Mr Balaji said.

The PV business continued its ‘strong’ momentum with wholesales growing 69% to 142,755 vehicles, amid strong festival demand and 'debottlenecking actions'.

However, margin recovery was impacted due to residual commodity inflation and adverse foreign exchange, Mr. Balaji added.

"Demand continues to remain strong; however it will remain a key monitorable in the wake of global uncertainties. Improving chip supply and cooling commodity prices will aid revenue and margins recovery
and we hence aim to deliver strong improvements in EBIT and free cash flows in H2 FY23,” he said.

Tata Motors could not source Chips of suitable quality
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Tata Motors could not source Chips in enough numbers
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Tata Motors could not source Chips in enough numbers
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Q132. Which business line should CK Venkatraman focus on for enhanced profitability?

Titan is looking towards further investments. After delivering its second-best quarterly revenue in Q1FY23, Titan Company is positive about delivering strong earnings in the remaining FY23 quarters as well.
"The financial year has begun well for us and we delivered a strong performance in Q1 across our business segments. Despite challenging macro environment, the outlook for the remaining quarters looks
positive and we continue to increase our investment plans in India as well as chosen international geographies,” said CK Venkataraman, Managing Director of the company.

Company'’s total expenses were higher at Rs 8,415 crore, up 141% from Rs 3,480 crore in the corresponding quarter last year. “Although the macroeconomic climate is difficult, the outlook for the upcoming
quarters is encouraging, according to Titan MD Venkataraman.

All three verticals of jewellery, watches and eyewear reported robust year-on-year and sequential growth aided by pent-up demand and strong footfall, Titan said. Jewellery business alone clocked revenue of Rs
8,351 crore as compared to Rs 3,050 crore in Q1FY22, up 173% on-year riding on a good Akshaya Tritiya sales and a better studded mix compared to the same quarter previous year.

Titan's Watches & Wearables business reported its best quarterly income of Rs 786 crore in June 2022 quarter, 168% on-year growth compared to Rs 293 crore in Q1FY22. Similarly, EyeCare business also
reported its highest quarterly income of Rs 183 crore with 173% on-year growth in the June quarter compared to Rs 67 crore in the corresponding quarter last year. Other businesses comprising Indian dress
wear and Fragrances & Fashion Accessories reported an income of Rs 144 crore, up from Rs 83 crore in Q1 FY22, a growth of 73% on year.

Titan reported total income of Rs 9,487 crore during the quarter under review, up 169% on-year from Rs 3,519 crore during the June 2021 quarter. It reported EPS of Rs 8.84 for the period ended June 30, 2022

as compared to Rs.0.22 for the same year-ago period. Titan has added a total of 125 stores during the year. Titan's retail chain (including Caratlane) has 2,303 stores across 366 towns with an area exceeding 2.9
million sq. ft. as on June 2022.
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Q133. What approximately is the revenue of Titan for the quarter under question?
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Titan is looking towards further investments. After delivering its second-best quarterly revenue in Q1FY23, Titan Company is positive about delivering strong earnings in the remaining FY23 quarters as well.
"The financial year has begun well for us and we delivered a strong performance in Q1 across our business segments. Despite challenging macro environment, the outlook for the remaining quarters looks
positive and we continue to increase our investment plans in India as well as chosen international geographies,” said CK Venkataraman, Managing Director of the company.
Company'’s total expenses were higher at Rs 8,415 crore, up 141% from Rs 3,480 crore in the corresponding quarter last year. “"Although the macroeconomic climate is difficult, the outlook for the upcoming
quarters is encouraging, according to Titan MD Venkataraman.
All three verticals of jewellery, watches and eyewear reported robust year-on-year and sequential growth aided by pent-up demand and strong footfall, Titan said. Jewellery business alone clocked revenue of Rs
8,351 crore as compared to Rs 3,050 crore in Q1FY22, up 173% on-year riding on a good Akshaya Tritiya sales and a better studded mix compared to the same quarter previous year.
Titan's Watches & Wearables business reported its best quarterly income of Rs 786 crore in June 2022 quarter, 168% on-year growth compared to Rs 293 crore in Q1FY22. Similarly, EyeCare business also
reported its highest quarterly income of Rs 183 crore with 173% on-year growth in the June quarter compared to Rs 67 crore in the corresponding quarter last year. Other businesses comprising Indian dress
wear and Fragrances & Fashion Accessories reported an income of Rs 144 crore, up from Rs 83 crore in Q1 FY22, a growth of 73% on year.
Titan reported total income of Rs 9,487 crore during the quarter under review, up 169% on-year from Rs 3,519 crore during the June 2021 quarter. It reported EPS of Rs 8.84 for the period ended June 30, 2022
as compared to Rs.0.22 for the same year-ago period. Titan has added a total of 125 stores during the year. Titan's retail chain (including Caratlane) has 2,303 stores across 366 towns with an area exceeding 2.9
million sq. ft. as on June 2022.

9487 Crore
() wusr=s
17900 Crore
(O 17900 =S
Cannot be deciphered
O wa T W Esa
8415 Crore
O sas=ds

9487 Crore
Answer of above question: 9487 #IS

Q134. What do you think is “Caratlane”?
ST FT AT & ST 182

Titan is looking towards further investments. After delivering its second-best quarterly revenue in Q1FY23, Titan Company is positive about delivering strong earnings in the remaining FY23 quarters as
well. “The financial year has begun well for us and we delivered a strong performance in Q1 across our business segments. Despite challenging macro environment, the outlook for the remaining quarters looks
positive and we continue to increase our investment plans in India as well as chosen international geographies,” said CK Venkataraman, Managing Director of the company.
Company's total expenses were higher at Rs 8,415 crore, up 141% from Rs 3,480 crore in the corresponding quarter last year. “Although the macroeconomic climate is difficult, the outlook for the upcoming
quarters is encouraging, according to Titan MD Venkataraman.
All three verticals of jewellery, watches and eyewear reported robust year-on-year and sequential growth aided by pent-up demand and strong footfall, Titan said. Jewellery business alone clocked revenue of Rs
8,351 crore as compared to Rs 3,050 crore in Q1FY22, up 173% on-year riding on a good Akshaya Tritiya sales and a better studded mix compared to the same quarter previous year.
Titan's Watches & Wearables business reported its best quarterly income of Rs 786 crore in June 2022 quarter, 168% on-year growth compared to Rs 293 crore in Q1FY22. Similarly, EyeCare business also
reported its highest quarterly income of Rs 183 crore with 173% on-year growth in the June quarter compared to Rs 67 crore in the corresponding quarter last year. Other businesses comprising Indian dress
wear and Fragrances & Fashion Accessories reported an income of Rs 144 crore, up from Rs 83 crore in Q1 FY22, a growth of 73% on year.
Titan reported total income of Rs 9,487 crore during the quarter under review, up 169% on-year from Rs 3,519 crore during the June 2021 quarter. It reported EPS of Rs 8.84 for the period ended June 30, 2022
as compared to Rs.0.22 for the same year-ago period. Titan has added a total of 125 stores during the year. Titan's retail chain (including Caratlane) has 2,303 stores across 366 towns with an area exceeding 2.9
million sq. ft. as on June 2022.
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Q135. In terms of revenue how big is the Watches & Wearable vertical as compared to the Eyecare vertical?
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Titan is looking towards further investments. After delivering its second-best quarterly revenue in Q1FY23, Titan Company is positive about delivering strong earnings in the remaining FY23 quarters as
well. “The financial year has begun well for us and we delivered a strong performance in Q1 across our business segments. Despite challenging macro environment, the outlook for the remaining quarters looks
positive and we continue to increase our investment plans in India as well as chosen international geographies,” said CK Venkataraman, Managing Director of the company.

Company's total expenses were higher at Rs 8,415 crore, up 141% from Rs 3,480 crore in the corresponding quarter last year. “"Although the macroeconomic climate is difficult, the outlook for the upcoming
quarters is encouraging, according to Titan MD Venkataraman.

All three verticals of jewellery, watches and eyewear reported robust year-on-year and sequential growth aided by pent-up demand and strong footfall, Titan said. Jewellery business alone clocked revenue
of Rs 8,351 crore as compared to Rs 3,050 crore in Q1FY22, up 173% on-year riding on a good Akshaya Tritiya sales and a better studded mix compared to the same quarter previous year.

Titan's Watches & Wearables business reported its best quarterly income of Rs 786 crore in June 2022 quarter, 168% on-year growth compared to Rs 293 crore in Q1FY22. Similarly, EyeCare business also
reported its highest quarterly income of Rs 183 crore with 173% on-year growth in the June quarter compared to Rs 67 crore in the corresponding quarter last year. Other businesses comprising Indian dress
wear and Fragrances & Fashion Accessories reported an income of Rs 144 crore, up from Rs 83 crore in Q1 FY22, a growth of 73% on year.

Titan reported total income of Rs 9,487 crore during the quarter under review, up 169% on-year from Rs 3,519 crore during the June 2021 quarter. It reported EPS of Rs 8.84 for the period ended June 30,
2022 as compared to Rs.0.22 for the same year-ago period. Titan has added a total of 125 stores during the year. Titan's retail chain (including Caratlane) has 2,303 stores across 366 towns with an area
exceeding 2.9 million sq. ft. as on June 2022.
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Q136. Chauhan intends to refocus and invest in environmental and charitable causes
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Ramesh Chauhan is divesting Bisleri International. AlImost three decades after selling soft drink brands Thums Up, Gold Spot and Limca to Coca-Cola, Ramesh Chauhan is divesting Bisleri International to Tata
Consumer Products Ltd (TCPL) for an estimated 36,000-7,000 crore. The current management will continue for two years as part of the deal. Chauhan, 82, has been in indifferent health in recent times and says
he doesn't have a successor to take Bisleri to the next level of expansion. Daughter Jayanti isn't too keen on the business, Chauhan said. Bisleri is India's largest packaged water company.
The Tata Group "will nurture and take care of it even better," although selling Bisleri was still a "painful" decision, Chauhan said. "I like the Tata culture of values and integrity and hence made up my mind
despite the aggression shown by other interested buyers."
Bisleri is said to have had several suitors at different times, including Reliance Retail, Nestle and Danone. Talks with Tata have been going on for two years and he made up his mind after meeting Tata Sons
chairman N Chandrasekaran and Tata Consumer CEO Sunil D'Souza a few months back. "I like them. They are good guys," he told ET.
Chauhan doesn't see any point in holding minority stakes after selling the business. "What will | do with it when | am not running the show?" he said. After exiting the bottled water business, Chauhan intends to
refocus and invest in environmental and charitable causes such as water harvesting, plastic recycling and helping the poor get medical treatment.
Chauhan said the deal wasn't just about the money. "Even | don't know what | will do with it (the money) but let me make it clear. It was not just the value | am getting for it, | was more anxious to find a home
that would look after it as | did. This is a business | have built with passion and it is now run by equally passionate employees," he said.
Chauhan has handed over day-to-day management to a professional team headed by CEO Angelo George. Chauhan said the Bisleri brand's turnover for FY23 is estimated at Rs 2,500 crore with profit at Rs 220
crore. Available numbers for the year ended March 2021, which was marked by Covid, shows income from sales at Rs 1,181 .7 crore and profit of Rs 95 crore, according to business intelligence platform Tofler,
compared with revenue of Rs 1,472 crore and profit of Rs 100 crore for the year ended March 2020.
Bisleri was originally an Italian brand that set up shop in India in Mumbai in 1965. The Chauhans acquired it in 1969. The company has 122 operational plants (13 of them owned) and a network of 4,500
distributors and 5,000 trucks across India and neighbouring countries.

Read the statements given below and choose the most appropriate classification of the statement from the options given:
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Q137. Daughter Jayanti isn't too keen on the business, Chauhan said.
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Ramesh Chauhan is divesting Bisleri International. AlImost three decades after selling soft drink brands Thums Up, Gold Spot and Limca to Coca-Cola, Ramesh Chauhan is divesting Bisleri International to Tata
Consumer Products Ltd (TCPL) for an estimated 6,000-7,000 crore. The current management will continue for two years as part of the deal. Chauhan, 82, has been in indifferent health in recent times and says
he doesn't have a successor to take Bisleri to the next level of expansion. Daughter Jayanti isn't too keen on the business, Chauhan said. Bisleri is India's largest packaged water company.
The Tata Group "will nurture and take care of it even better," although selling Bisleri was still a "painful" decision, Chauhan said. "I like the Tata culture of values and integrity and hence made up my mind
despite the aggression shown by other interested buyers."
Bisleri is said to have had several suitors at different times, including Reliance Retail, Nestle and Danone. Talks with Tata have been going on for two years and he made up his mind after meeting Tata Sons
chairman N Chandrasekaran and Tata Consumer CEO Sunil D'Souza a few months back. "I like them. They are good guys," he told ET.
Chauhan doesn't see any point in holding minority stakes after selling the business. "What will I do with it when | am not running the show?" he said. After exiting the bottled water business, Chauhan intends to
refocus and invest in environmental and charitable causes such as water harvesting, plastic recycling and helping the poor get medical treatment.
Chauhan said the deal wasn't just about the money. "Even | don't know what | will do with it (the money) but let me make it clear. It was not just the value | am getting for it, | was more anxious to find a home
that would look after it as | did. This is a business | have built with passion and it is now run by equally passionate employees," he said.
Chauhan has handed over day-to-day management to a professional team headed by CEO Angelo George. Chauhan said the Bisleri brand's turnover for FY23 is estimated at Rs 2,500 crore with profit at Rs 220
crore. Available numbers for the year ended March 2021, which was marked by Covid, shows income from sales at Rs 1,181 .7 crore and profit of Rs 95 crore, according to business intelligence platform Tofler,
compared with revenue of Rs 1,472 crore and profit of Rs 100 crore for the year ended March 2020.
Bisleri was originally an Italian brand that set up shop in India in Mumbai in 1965. The Chauhans acquired it in 1969. The company has 122 operational plants (13 of them owned) and a network of 4,500
distributors and 5,000 trucks across India and neighbouring countries.

Read the statements given below and choose the most appropriate classification of the statement from the options given:
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Q138. The Tata Group "will nurture and take care of it even better,"
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Ramesh Chauhan is divesting Bisleri International. AlImost three decades after selling soft drink brands Thums Up, Gold Spot and Limca to Coca-Cola, Ramesh Chauhan is divesting Bisleri International to Tata
Consumer Products Ltd (TCPL) for an estimated %6,000-7,000 crore. The current management will continue for two years as part of the deal. Chauhan, 82, has been in indifferent health in recent times and says
he doesn't have a successor to take Bisleri to the next level of expansion. Daughter Jayanti isn't too keen on the business, Chauhan said. Bisleri is India's largest packaged water company.
The Tata Group "will nurture and take care of it even better," although selling Bisleri was still a "painful" decision, Chauhan said. "I like the Tata culture of values and integrity and hence made up my mind
despite the aggression shown by other interested buyers."
Bisleri is said to have had several suitors at different times, including Reliance Retail, Nestle and Danone. Talks with Tata have been going on for two years and he made up his mind after meeting Tata Sons



chairman N Chandrasekaran and Tata Consumer CEO Sunil D'Souza a few months back. "I like them. They are good guys," he told ET.

Chauhan doesn't see any point in holding minority stakes after selling the business. "What will | do with it when | am not running the show?" he said. After exiting the bottled water business, Chauhan intends to
refocus and invest in environmental and charitable causes such as water harvesting, plastic recycling and helping the poor get medical treatment.

Chauhan said the deal wasn't just about the money. "Even | don't know what | will do with it (the money) but let me make it clear. It was not just the value | am getting for it, | was more anxious to find a home
that would look after it as | did. This is a business | have built with passion and it is now run by equally passionate employees," he said.

Chauhan has handed over day-to-day management to a professional team headed by CEO Angelo George. Chauhan said the Bisleri brand's turnover for FY23 is estimated at Rs 2,500 crore with profit at Rs 220
crore. Available numbers for the year ended March 2021, which was marked by Covid, shows income from sales at Rs 1,181 .7 crore and profit of Rs 95 crore, according to business intelligence platform Tofler,
compared with revenue of Rs 1,472 crore and profit of Rs 100 crore for the year ended March 2020.

Bisleri was originally an Italian brand that set up shop in India in Mumbai in 1965. The Chauhans acquired it in 1969. The company has 122 operational plants (13 of them owned) and a network of 4,500
distributors and 5,000 trucks across India and neighbouring countries.

Read the statements given below and choose the most appropriate classification of the statement from the options given:
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Q139. The current management will continue for two years as part of the deal.
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Ramesh Chauhan is divesting Bisleri International. AiImost three decades after selling soft drink brands Thums Up, Gold Spot and Limca to Coca-Cola, Ramesh Chauhan is divesting Bisleri International to Tata
Consumer Products Ltd (TCPL) for an estimated %6,000-7,000 crore. The current management will continue for two years as part of the deal. Chauhan, 82, has been in indifferent health in recent times and says
he doesn't have a successor to take Bisleri to the next level of expansion. Daughter Jayanti isn't too keen on the business, Chauhan said. Bisleri is India's largest packaged water company.
The Tata Group "will nurture and take care of it even better," although selling Bisleri was still a "painful" decision, Chauhan said. "I like the Tata culture of values and integrity and hence made up my mind
despite the aggression shown by other interested buyers."
Bisleri is said to have had several suitors at different times, including Reliance Retail, Nestle and Danone. Talks with Tata have been going on for two years and he made up his mind after meeting Tata Sons
chairman N Chandrasekaran and Tata Consumer CEO Sunil D'Souza a few months back. "I like them. They are good guys," he told ET.
Chauhan doesn't see any point in holding minority stakes after selling the business. "What will | do with it when | am not running the show?" he said. After exiting the bottled water business, Chauhan intends to
refocus and invest in environmental and charitable causes such as water harvesting, plastic recycling and helping the poor get medical treatment.
Chauhan said the deal wasn't just about the money. "Even | don't know what | will do with it (the money) but let me make it clear. It was not just the value | am getting for it, | was more anxious to find a home
that would look after it as | did. This is a business | have built with passion and it is now run by equally passionate employees," he said.
Chauhan has handed over day-to-day management to a professional team headed by CEO Angelo George. Chauhan said the Bisleri brand's turnover for FY23 is estimated at Rs 2,500 crore with profit at Rs 220
crore. Available numbers for the year ended March 2021, which was marked by Covid, shows income from sales at Rs 1,181 .7 crore and profit of Rs 95 crore, according to business intelligence platform Tofler,
compared with revenue of Rs 1,472 crore and profit of Rs 100 crore for the year ended March 2020.
Bisleri was originally an Italian brand that set up shop in India in Mumbai in 1965. The Chauhans acquired it in 1969. The company has 122 operational plants (13 of them owned) and a network of 4,500
distributors and 5,000 trucks across India and neighbouring countries.

Read the statements given below and choose the most appropriate classification of the statement from the options given:

To make sure that the Tata group does not change anything in the company
O == T fir & oo wqp & 4 7o T sqam &

To help in the transition of knowledge & management understanding to the new owners
() a1 99 IR v 1 96 & HEH YeH & Beg 53¢ & 7Y

To inform Chauhan'’s family in case there are any issues
(O o8 vPR St Wt A 7 W FIeH & IRaR ST FfHd S

To ensure proper sharing of profits

O 1 3 searm gREE 0 & R



To help in the transition of knowledge & management understanding to the new owners
Answer of above question: =g mIftrRt H1 T4 R FEHH T TAF F S USH | Hgg 53 & 1Y

Q140. This will likely be the biggest acquisition in the sector this year.
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Amgen in $27.8-bn deal for Horizon Therapeutics to expand rare disease reach. Amgen Inc will buy rare disease drugmaker Horizon Therapeutics Plc in a deal valued at $27.8 billion, boosting the biotech
firm's rare diseases portfolio and marking the biggest acquisition in the sector this year.
The company will pay $116.50 in cash for each Horizon share held, a premium of nearly 20% to the stock's last close.

Amgen gains several approved drugs through the deal, which could help counter the impact from rising competition for its top-selling arthritis drug, Enbrel, from newer treatments. Enbrel and some other
drugs are expected to lose patent protection in the next few years.
The deal should help Amgen come close to achieving its 2030 sales goal, said BMO Capital Markets analyst Evan Seigerman.

Amgen emerged as the sole bidder after rivals Sanofi and Johnson & Johnson pulled out of the race.
Shares of Horizon jumped 14.4% to $111.37 premarket. They have gained 23.5% through Friday close since the company said in late November it was in preliminary talks with Amgen, Sanofi and Johnson &
Johnson for potential takeover offers.

Thyroid eye disease treatment Tepezza is Horizon's largest selling drug and generated net sales of $1.66 billion in 2021, while Krystexxa, which is used to treat gout not controlled by other medicines, brought
in sales of $565.5 million.
Sales of Amgen's Enbrel have declined over the last four quarters, tumbling 14% in the latest reported quarter to $1.1 billion.

The offer values Horizon at $27.8 billion on a fully diluted basis, according to the company, which includes ordinary shares to be vested. Based on Reuters calculations, it values Horizon at $26.40 billion.
Amgen has entered into a $28.5 billion debt agreement with Citibank and Bank of America in connection to the deal.

The offer values Horizon at $28.3 billion, including debt.
Read the statements given below and choose the most appropriate classification of the statement from the options given:

Major factor for making the decisions
fofa & & fore wE e

Minor factor for making the decisions
fufg @3 & forg A (7o) FRE

Not relevant in making the decisions
foofa 391 & w761 2

Major objective in making the decisions

O FlrdRAvmEsia

O O O

Not relevant in making the decisions

Answer of above question:  fufg w3 # wrdifies w6t &

Q141. The deal should help Amgen come close to achieving its 2030 sales goal
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Amgen in $27.8-bn deal for Horizon Therapeutics to expand rare disease reach. Amgen Inc will buy rare disease drugmaker Horizon Therapeutics Plc in a deal valued at $27.8 billion, boosting the biotech
firm's rare diseases portfolio and marking the biggest acquisition in the sector this year.

The company will pay $116.50 in cash for each Horizon share held, a premium of nearly 20% to the stock's last close.

Amgen gains several approved drugs through the deal, which could help counter the impact from rising competition for its top-selling arthritis drug, Enbrel, from newer treatments. Enbrel and some other
drugs are expected to lose patent protection in the next few years.
The deal should help Amgen come close to achieving its 2030 sales goal, said BMO Capital Markets analyst Evan Seigerman.

Amgen emerged as the sole bidder after rivals Sanofi and Johnson & Johnson pulled out of the race.
Shares of Horizon jumped 14.4% to $111.37 premarket. They have gained 23.5% through Friday close since the company said in late November it was in preliminary talks with Amgen, Sanofi and Johnson &
Johnson for potential takeover offers.

Thyroid eye disease treatment Tepezza is Horizon's largest selling drug and generated net sales of $1.66 billion in 2021, while Krystexxa, which is used to treat gout not controlled by other medicines,
brought in sales of $565.5 million.
Sales of Amgen's Enbrel have declined over the last four quarters, tumbling 14% in the latest reported quarter to $1.1 billion.

The offer values Horizon at $27.8 billion on a fully diluted basis, according to the company, which includes ordinary shares to be vested. Based on Reuters calculations, it values Horizon at $26.40 billion.
Amgen has entered into a $28.5 billion debt agreement with Citibank and Bank of America in connection to the deal.

The offer values Horizon at $28.3 billion, including debt.
Read the statements given below and choose the most appropriate classification of the statement from the options given:



Major factor for making the decisions
e o % forg wE e

Minor factor for making the decisions
fofa & % for Ameht (o) e

Major assumption in making the decisions
fouf & & g ywon

Major objective in making the decisions

O frfadddmesi

O O O

Major objective in making the decisions

Answer of above question: fyufa 79 ¥ @ gEd

Q142. This could help counter the impact from rising competition for its top-selling arthritis drug, Enbrel
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Amgen in $27.8-bn deal for Horizon Therapeutics to expand rare disease reach. Amgen Inc will buy rare disease drugmaker Horizon Therapeutics Plc in a deal valued at $27.8 billion, boosting the biotech
firm's rare diseases portfolio and marking the biggest acquisition in the sector this year.
The company will pay $116.50 in cash for each Horizon share held, a premium of nearly 20% to the stock’s last close.
Amgen gains several approved drugs through the deal, which could help counter the impact from rising competition for its top-selling arthritis drug, Enbrel, from newer treatments. Enbrel and some other
drugs are expected to lose patent protection in the next few years.
The deal should help Amgen come close to achieving its 2030 sales goal, said BMO Capital Markets analyst Evan Seigerman.
Amgen emerged as the sole bidder after rivals Sanofi and Johnson & Johnson pulled out of the race.
Shares of Horizon jumped 14.4% to $111.37 premarket. They have gained 23.5% through Friday close since the company said in late November it was in preliminary talks with Amgen, Sanofi and Johnson &
Johnson for potential takeover offers.
Thyroid eye disease treatment Tepezza is Horizon's largest selling drug and generated net sales of $1.66 billion in 2021, while Krystexxa, which is used to treat gout not controlled by other medicines, brought in
sales of $565.5 million.
Sales of Amgen's Enbrel have declined over the last four quarters, tumbling 14% in the latest reported quarter to $1.1 billion.
The offer values Horizon at $27.8 billion on a fully diluted basis, according to the company, which includes ordinary shares to be vested. Based on Reuters calculations, it values Horizon at $26.40 billion.
Amgen has entered into a $28.5 billion debt agreement with Citibank and Bank of America in connection to the deal.
The offer values Horizon at $28.3 billion, including debt.

Read the statements given below and choose the most appropriate classification of the statement from the options given:

Major factor for making the decisions
ffa & & fore wa o

Minor factor for makin_g the decisions
fyofa &9 & e At (7o) eRE

Major assumption in making the decisions
fFoufar & & wge ywon

Major objective in making the decisions

O frfad 3y

O O O

Major assumption in making the decisions
Answer of above question: fufg @3 & THE YR

Q143. Sales of Amgen's Enbrel have declined over the last four quarters
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Amgen in $27.8-bn deal for Horizon Therapeutics to expand rare disease reach. Amgen Inc will buy rare disease drugmaker Horizon Therapeutics Plc in a deal valued at $27.8 billion, boosting the biotech firm's
rare diseases portfolio and marking the biggest acquisition in the sector this year.

The company will pay $116.50 in cash for each Horizon share held, a premium of nearly 20% to the stock'’s last close.

Amgen gains several approved drugs through the deal, which could help counter the impact from rising competition for its top-selling arthritis drug, Enbrel, from newer treatments. Enbrel and some other drugs
are expected to lose patent protection in the next few years.

The deal should help Amgen come close to achieving its 2030 sales goal, said BMO Capital Markets analyst Evan Seigerman.

Amgen emerged as the sole bidder after rivals Sanofi and Johnson & Johnson pulled out of the race.

Shares of Horizon jumped 14.4% to $111.37 premarket. They have gained 23.5% through Friday close since the company said in late November it was in preliminary talks with Amgen, Sanofi and Johnson &
Johnson for potential takeover offers.

Thyroid eye disease treatment Tepezza is Horizon's largest selling drug and generated net sales of $1.66 billion in 2021, while Krystexxa, which is used to treat gout not controlled by other medicines, brought in
sales of $565.5 million.

Sales of Amgen's Enbrel have declined over the last four quarters, tumbling 14% in the latest reported quarter to $1.1 billion.

The offer values Horizon at $27.8 billion on a fully diluted basis, according to the company, which includes ordinary shares to be vested. Based on Reuters calculations, it values Horizon at $26.40 billion.

Amgen has entered into a $28.5 billion debt agreement with Citibank and Bank of America in connection to the deal.

The offer values Horizon at $28.3 billion, including debt.

Read the statements given below and choose the most appropriate classification of the statement from the options given:

Major factor for making the decisions
O ffa 7 & forg vgE FR®
Minor factor for making the decisions
O Fola &3 % forg wegedt (o s
Major assumption in making the decisions
(O Frfg 33 8 g yron
Major objective in making the decisions
ot & & s 9gmm

O

Major factor for making the decisions

Answer of above question:  fufg & % forg W@ FR=

Q144. The deal will boost Amgen'’s rare diseases portfolio of drugs.
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Amgen in $27.8-bn deal for Horizon Therapeutics to expand rare disease reach. Amgen Inc will buy rare disease drugmaker Horizon Therapeutics Plc in a deal valued at $27.8 billion, boosting the biotech
firm's rare diseases portfolio and marking the biggest acquisition in the sector this year.
The company will pay $116.50 in cash for each Horizon share held, a premium of nearly 20% to the stock'’s last close.
Amgen gains several approved drugs through the deal, which could help counter the impact from rising competition for its top-selling arthritis drug, Enbrel, from newer treatments. Enbrel and some other
drugs are expected to lose patent protection in the next few years.
The deal should help Amgen come close to achieving its 2030 sales goal, said BMO Capital Markets analyst Evan Seigerman.
Amgen emerged as the sole bidder after rivals Sanofi and Johnson & Johnson pulled out of the race.
Shares of Horizon jumped 14.4% to $111.37 premarket. They have gained 23.5% through Friday close since the company said in late November it was in preliminary talks with Amgen, Sanofi and Johnson &
Johnson for potential takeover offers.
Thyroid eye disease treatment Tepezza is Horizon's largest selling drug and generated net sales of $1.66 billion in 2021, while Krystexxa, which is used to treat gout not controlled by other medicines, brought
in sales of $565.5 million.
Sales of Amgen's Enbrel have declined over the last four quarters, tumbling 14% in the latest reported quarter to $1.1 billion.
The offer values Horizon at $27.8 billion on a fully diluted basis, according to the company, which includes ordinary shares to be vested. Based on Reuters calculations, it values Horizon at $26.40 billion.
Amgen has entered into a $28.5 billion debt agreement with Citibank and Bank of America in connection to the deal.
The offer values Horizon at $28.3 billion, including debt.
Read the statements given below and choose the most appropriate classification of the statement from the options given:



Major factor for making the decisions
ot o1 % g wE FRe

Minor factor for making the decisions
fyofar 84 & forg amgett (7o) SR

Major assumption in making the decisions
fFoufey &= & wge ywon

Major objective in making the decisions

O Foofar & # g w2

O O O

Major factor for making the decisions

Answer of above question: Ffg 4 ¥ fore W@ wRe

Q145. What was the last closing price of Horizon's shares?
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Amgen in $27.8-bn deal for Horizon Therapeutics to expand rare disease reach. Amgen Inc will buy rare disease drugmaker Horizon Therapeutics Plc in a deal valued at $27.8 billion, boosting the biotech
firm's rare diseases portfolio and marking the biggest acquisition in the sector this year.
The company will pay $116.50 in cash for each Horizon share held, a premium of nearly 20% to the stock's last close.
Amgen gains several approved drugs through the deal, which could help counter the impact from rising competition for its top-selling arthritis drug, Enbrel, from newer treatments. Enbrel and some other
drugs are expected to lose patent protection in the next few years.
The deal should help Amgen come close to achieving its 2030 sales goal, said BMO Capital Markets analyst Evan Seigerman.
Amgen emerged as the sole bidder after rivals Sanofi and Johnson & Johnson pulled out of the race.
Shares of Horizon jumped 14.4% to $111.37 premarket. They have gained 23.5% through Friday close since the company said in late November it was in preliminary talks with Amgen, Sanofi and Johnson &
Johnson for potential takeover offers.
Thyroid eye disease treatment Tepezza is Horizon's largest selling drug and generated net sales of $1.66 billion in 2021, while Krystexxa, which is used to treat gout not controlled by other medicines, brought
in sales of $565.5 million.
Sales of Amgen's Enbrel have declined over the last four quarters, tumbling 14% in the latest reported quarter to $1.1 billion.
The offer values Horizon at $27.8 billion on a fully diluted basis, according to the company, which includes ordinary shares to be vested. Based on Reuters calculations, it values Horizon at $26.40 billion.
Amgen has entered into a $28.5 billion debt agreement with Citibank and Bank of America in connection to the deal.
The offer values Horizon at $28.3 billion, including debt.

Read the statements given below and choose the most appropriate classification of the statement from the options given:

Approximately USD 97 per share
TATHAT USD 97 Wid 27X
Approximately USD 140 per share
TATHAT USD 140 Ufd 91T7
Approximately USD 145 per share
TATHAT USD 145 Ufd 9%
Approximately USD 87 per share
(O wmrTUSD 87 R TR

O O O

Approximately USD 97 per share
Answer of above question: @7 USD 97 Wfd SR

Q146. What as per your reading is GITEX?
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Indian tech at global stage: Kerala-based start-ups grab deals worth Rs 130 cr in Dubai GITEX expo. Indian tech at global stage: Kerala-based start-ups grab deals worth Rs 130 cr in Dubai GITEX expo.
Startups from different sectors, including edutech, cybersecurity, enterprise tech, agri tech, Internet of Things, media tech, health tech, fintech, insurance tech, and consumer tech took part in the GITEX Global
2022 in Dubai.

Kerala-based start-ups, which took part in the GITEX Global 2022 in Dubai, have managed to grab net deals and business commitments worth Rs 130 crore.

According to the Kerala Startup Mission (KSUM), startups from different sectors, including edutech, cybersecurity, enterprise tech, agri tech, Internet of Things, media tech, health tech, fintech, insurance
tech, and consumer tech took part in the four-day seminar held at the Dubai World Trade Centre. The event ended on Friday.

Another 30 startups from different states of India took part in the GITEX, which was the world's largest startup event where more than 5,000 companies from across the globe had participated.
Since 2018, KSUM has been promoting Kerala-based startups at GITEX as part of international exposure or market access programmes. “Start-ups from Kerala received a big response from the NRI community
and investors at GITEX Expo. In the future, the KSUM will support the efforts of Kerala start-ups to set up their offices and establish a strong relationship with the UAE,” said KSUM CEO Anoop Ambika.

KSUM is the nodal agency for entrepreneurship development and incubation activities in the state.

Over the past year, Indian companies have bagged significant businesses and forged joint ventures and marketing tie-ups through Gitex. The Electronics and Computer Software Export Promotion Council
(ESC) in India has been facilitating the country’s participation in the mega expo for years to take advantage of the booming IT market in the Gulf. For India, the UAE is the second top destination for its
electronics goods with a share of 16 per cent.

India’s total export of electronics hardware in 2021-22 is estimated to be around $15.69 billion. It was $11.03 billion in 2020-21 despite the pandemic slowdown.

In 2021-22, India's export of electronics goods to the Middle East stood at $3.32 billion. In terms of value, the export of electronics to the UAE was around $2.47 billion in the same time period. The export
of software and related services to the Middle East reached $3.3 billion in 2021-22

A global phenomenon

T i el

An international exhibition in Dubai
gEs 31 TP Haeapg Hau

An electronic exhibition in India
HRE &1 UF SeEeie das

An electronic exhibition in Europe

O s v s e

O O O

An international exhibition in Dubai

Answer of above question: gag 1 % Ay yeH

Q147. India’s growth in electronic hardware export from 2020 to 2022 is around
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Indian tech at global stage: Kerala-based start-ups grab deals worth Rs 130 cr in Dubai GITEX expo. Indian tech at global stage: Kerala-based start-ups grab deals worth Rs 130 cr in Dubai GITEX expo. Startups
from different sectors, including edutech, cybersecurity, enterprise tech, agri tech, Internet of Things, media tech, health tech, fintech, insurance tech, and consumer tech took part in the GITEX Global 2022 in
Dubai.
Kerala-based start-ups, which took part in the GITEX Global 2022 in Dubai, have managed to grab net deals and business commitments worth Rs 130 crore.
According to the Kerala Startup Mission (KSUM), startups from different sectors, including edutech, cybersecurity, enterprise tech, agri tech, Internet of Things, media tech, health tech, fintech, insurance tech,
and consumer tech took part in the four-day seminar held at the Dubai World Trade Centre. The event ended on Friday.

Another 30 startups from different states of India took part in the GITEX, which was the world's largest startup event where more than 5,000 companies from across the globe had participated.
Since 2018, KSUM has been promoting Kerala-based startups at GITEX as part of international exposure or market access programmes. “Start-ups from Kerala received a big response from the NRI community
and investors at GITEX Expo. In the future, the KSUM will support the efforts of Kerala start-ups to set up their offices and establish a strong relationship with the UAE," said KSUM CEO Anoop Ambika.

KSUM is the nodal agency for entrepreneurship development and incubation activities in the state.

Over the past year, Indian companies have bagged significant businesses and forged joint ventures and marketing tie-ups through Gitex. The Electronics and Computer Software Export Promotion Council (ESC)
in India has been facilitating the country’s participation in the mega expo for years to take advantage of the booming IT market in the Gulf. For India, the UAE is the second top destination for its electronics
goods with a share of 16 per cent.

India’s total export of electronics hardware in 2021-22 is estimated to be around $15.69 billion. It was $11.03 billion in 2020-21 despite the pandemic slowdown.

In 2021-22, India's export of electronics goods to the Middle East stood at $3.32 billion. In terms of value, the export of electronics to the UAE was around $2.47 billion in the same time period. The export of
software and related services to the Middle East reached $3.3 billion in 2021-22



42%
O 2%
52%
O s2%
29%
O 29%
Cannot be calculated

O o R = e

42%
Answer of above question: 42%

Q148. Startups participate in GITEX in the hope of
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Indian tech at global stage: Kerala-based start-ups grab deals worth Rs 130 cr in Dubai GITEX expo. Indian tech at global stage: Kerala-based start-ups grab deals worth Rs 130 cr in Dubai GITEX expo.

Startups from different sectors, including edutech, cybersecurity, enterprise tech, agri tech, Internet of Things, media tech, health tech, fintech, insurance tech, and consumer tech took part in the GITEX Global
2022 in Dubai.

Kerala-based start-ups, which took part in the GITEX Global 2022 in Dubai, have managed to grab net deals and business commitments worth Rs 130 crore.

According to the Kerala Startup Mission (KSUM), startups from different sectors, including edutech, cybersecurity, enterprise tech, agri tech, Internet of Things, media tech, health tech, fintech, insurance
tech, and consumer tech took part in the four-day seminar held at the Dubai World Trade Centre. The event ended on Friday.

Another 30 startups from different states of India took part in the GITEX, which was the world's largest startup event where more than 5,000 companies from across the globe had participated.
Since 2018, KSUM has been promoting Kerala-based startups at GITEX as part of international exposure or market access programmes. “Start-ups from Kerala received a big response from the NRI community
and investors at GITEX Expo. In the future, the KSUM will support the efforts of Kerala start-ups to set up their offices and establish a strong relationship with the UAE,” said KSUM CEO Anoop Ambika.

KSUM is the nodal agency for entrepreneurship development and incubation activities in the state.

Over the past year, Indian companies have bagged significant businesses and forged joint ventures and marketing tie-ups through Gitex. The Electronics and Computer Software Export Promotion Council

(ESC) in India has been facilitating the country’s participation in the mega expo for years to take advantage of the booming IT market in the Gulf. For India, the UAE is the second top destination for its
electronics goods with a share of 16 per cent.

India’s total export of electronics hardware in 2021-22 is estimated to be around $15.69 billion. It was $11.03 billion in 2020-21 despite the pandemic slowdown.

In 2021-22, India's export of electronics goods to the Middle East stood at $3.32 billion. In terms of value, the export of electronics to the UAE was around $2.47 billion in the same time period. The export
of software and related services to the Middle East reached $3.3 billion in 2021-22

Attracting new investors
O qu gl B sty s
Forming JVs with other companies
O 3 il & Ty o (Sse 3=7) S
For marketing partnerships
O fomom =t e & fire
For all the given options

O RumehRew s i

For all the given options

Answer of above question: ey 7 93t fewedi & forg

Q149. If the share of exports to UAE remains the same across years then what is the value of exports to UAE in 2020-21?
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Indian tech at global stage: Kerala-based start-ups grab deals worth Rs 130 cr in Dubai GITEX expo. Indian tech at global stage: Kerala-based start-ups grab deals worth Rs 130 cr in Dubai GITEX expo.
Startups from different sectors, including edutech, cybersecurity, enterprise tech, agri tech, Internet of Things, media tech, health tech, fintech, insurance tech, and consumer tech took part in the GITEX Global



2022 in Dubai.
Kerala-based start-ups, which took part in the GITEX Global 2022 in Dubai, have managed to grab net deals and business commitments worth Rs 130 crore.

According to the Kerala Startup Mission (KSUM), startups from different sectors, including edutech, cybersecurity, enterprise tech, agri tech, Internet of Things, media tech, health tech, fintech, insurance tech,
and consumer tech took part in the four-day seminar held at the Dubai World Trade Centre. The event ended on Friday.
Another 30 startups from different states of India took part in the GITEX, which was the world's largest startup event where more than 5,000 companies from across the globe had participated.

Since 2018, KSUM has been promoting Kerala-based startups at GITEX as part of international exposure or market access programmes. “Start-ups from Kerala received a big response from the NRI community
and investors at GITEX Expo. In the future, the KSUM will support the efforts of Kerala start-ups to set up their offices and establish a strong relationship with the UAE,” said KSUM CEO Anoop Ambika.

KSUM is the nodal agency for entrepreneurship development and incubation activities in the state.

Over the past year, Indian companies have bagged significant businesses and forged joint ventures and marketing tie-ups through Gitex. The Electronics and Computer Software Export Promotion Council
(ESC) in India has been facilitating the country’s participation in the mega expo for years to take advantage of the booming IT market in the Gulf. For India, the UAE is the second top destination for its
electronics goods with a share of 16 per cent.

India’s total export of electronics hardware in 2021-22 is estimated to be around $15.69 billion. It was $11.03 billion in 2020-21 despite the pandemic slowdown.

In 2021-22, India's export of electronics goods to the Middle East stood at $3.32 billion. In terms of value, the export of electronics to the UAE was around $2.47 billion in the same time period. The export of
software and related services to the Middle East reached $3.3 billion in 2021-22

Approx 1.7 billion
TATH 1.7 faferaa
Approx 2.7 billion
T 2.7 TEfeEA
Approx 3.7 billion
TATH 3.7 Tt
Approx 0.7 billion
(O o7 ffee

O O O

Approx 1.7 billion
Answer of above question: 1T 1.7 fafera=

Q150. The share of exports of electronics of India to the Middle East is not changing over the years.

Analyse the above statement and then choose which of the given statements is correct.
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Indian tech at global stage: Kerala-based start-ups grab deals worth Rs 130 cr in Dubai GITEX expo. Indian tech at global stage: Kerala-based start-ups grab deals worth Rs 130 cr in Dubai GITEX expo.
Startups from different sectors, including edutech, cybersecurity, enterprise tech, agri tech, Internet of Things, media tech, health tech, fintech, insurance tech, and consumer tech took part in the GITEX Global
2022 in Dubai.
Kerala-based start-ups, which took part in the GITEX Global 2022 in Dubai, have managed to grab net deals and business commitments worth Rs 130 crore.
According to the Kerala Startup Mission (KSUM), startups from different sectors, including edutech, cybersecurity, enterprise tech, agri tech, Internet of Things, media tech, health tech, fintech, insurance tech,
and consumer tech took part in the four-day seminar held at the Dubai World Trade Centre. The event ended on Friday.
Another 30 startups from different states of India took part in the GITEX, which was the world's largest startup event where more than 5,000 companies from across the globe had participated.

Since 2018, KSUM has been promoting Kerala-based startups at GITEX as part of international exposure or market access programmes. “Start-ups from Kerala received a big response from the NRI community
and investors at GITEX Expo. In the future, the KSUM will support the efforts of Kerala start-ups to set up their offices and establish a strong relationship with the UAE,” said KSUM CEO Anoop Ambika.

KSUM is the nodal agency for entrepreneurship development and incubation activities in the state.

Over the past year, Indian companies have bagged significant businesses and forged joint ventures and marketing tie-ups through Gitex. The Electronics and Computer Software Export Promotion Council
(ESC) in India has been facilitating the country’s participation in the mega expo for years to take advantage of the booming IT market in the Gulf. For India, the UAE is the second top destination for its
electronics goods with a share of 16 per cent.

India’s total export of electronics hardware in 2021-22 is estimated to be around $15.69 billion. It was $11.03 billion in 2020-21 despite the pandemic slowdown.

In 2021-22, India's export of electronics goods to the Middle East stood at $3.32 billion. In terms of value, the export of electronics to the UAE was around $2.47 billion in the same time period. The export of
software and related services to the Middle East reached $3.3 billion in 2021-22



The above statement is true
O swwaswEwat
The above statement is false
O vwiw = s &
The above cannot be ascertained from the given details
O FU= a7 e & uar TEt o o g §
The share is not changing and also it is equal to approximately 16%

(O e e 9gu w1 8 ofr gE i AT 16% H AR §

The above cannot be ascertained from the given details
Answer of above question: Uz faw mu fFaww & war 78 T @ A B
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